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PART – I : PHYSICS 

1. Given that : 
2

y Asin (ct x)
  

= −  
  

where y and 

x are measured in metres. Which of the following 

statements is true? 

 (1) The unit of  is same that of x and A 

 (2) The unit of  is same that of x but not of A 

 (3) The unit of c is same that of 
2


  

 (4) The unit of (ct – x) is same that 
2


  

2. The circular division of screw gauge are 50. It 

moves 0.5 mm on main scale in one rotation. The 

least count of screw gauge is 

 (1) 0.1 cm (2) 0.01 cm 

 (3) 0.01 mm (4) 0.01 m 

3. The relative density of a material is found by 

weighing the body first in air and then in water. If 

the weight in air is (10.0 ± 0.1) gf and weight in 

water is (5.0 ± 0.1) gf then the maximum 

permissible percentage error in relative density is: 

 (1) 1%     (2) 2% (3) 3% (4) 5% 

4. Two cars P and Q start from a point at the same 

time in a straight line and their positions are 

represented by xP(t) = at + bt2 and xQ(t) = f t – t2. 

At what time do the cars have the same velocity? 

 (1) 
f a

2(1 b)

−

+
 (2) 

a f

1 b

−

+
  

 (3) 
a f

2(b 1)

+

−
 (4) 

a f

2(1 b)

+

+
  

5. A body is thrown vertically up with a velocity u. It 

passes three points A, B and C in its upward 

journey with velocities 
u u

,
2 3

 and 
u

4
 respectively. 

The ratio of the separations between points A and 

B and between B and C, i.e., 
AB

BC
is: 

 (1) 1         (2) 2 (3) 
10

7
 (4) 

20

7
  

1. fn;k x;k gS fd 
2

y Asin (ct x)
  

= −  
  

tgk¡ y vkSj 

x dks ehVj eas ekik tkrk gSA fuEufyf[kr eas ls dkSulk 

dFku lR; gS\ 

 (1)  dh bdkbZ x vkSj A ds leku gS 

 (2)  dh bdkbZ x ds leku gS ysfdu A ds leku ugha 

 (3) c dk ek=d leku 
2


 ds leku gS 

 (4) (ct – x) dk ek=d ogh gS tks
2


  

2. LØw xst dk o`Ùkkdkj foHkktu 50 gSA ;g ,d ?kw.kZu eas 

eq[; iSekus ij 0.5 mm pyrk gSA isap ekih dh 

vYirekad D;k gS\ 

 (1) 0.1 cm (2) 0.01 cm 

 (3) 0.01 mm (4) 0.01 m 

3. fdlh inkFkZ dk lkis{k ?kuro fi.M dks igys gok eas 

vkSj fQj ikuh eas rkSyus ls irk pyrk gSA ;fn ok;q 

dk Hkkj (10.0 ± 0.1) gf gS vkSj ty dk Hkkj (5.0 ± 

0.1) gf gS] rks lkis{k ?kuRo eas vf/kdre vuqes; izfr'kr 

=qfV D;k gS& 

 (1) 1%     (2) 2% (3) 3% (4) 5% 

4. nks dkjsa P vkSj Q ,d gh le; eas ,d fcanq ls ,d lh/kh 

js[kk eas pyuk 'kq: djrh gS vkSj mudh fLFkfr dks xP(t) 

= at + bt2 vkSj xQ(t) = f t – t2 
}kjk n'kkZ;k tkrk gSA 

fdl le; dkjksa dk osx leku gksrk gS\ 

 (1) 
f a

2(1 b)

−

+
 (2) 

a f

1 b

−

+
  

 (3) 
a f

2(b 1)

+

−
 (4) 

a f

2(1 b)

+

+
  

5. ,d oLrq dks Å/okZ/kj Åij dh vksj osx u ds lkFk 

Qsadk tkrk gSA ;g viuh Åij dh vksj ;k=k eas rhu 

fcanqvksa A, B vkSj C dks osx 
u u

,
2 3

 vkSj
u

4
 Øekuqlkj ls 

ikj djrh gSA fcanq A vkSj B ds chp vkSj B vkSj C ds 

chp nwjh dk vuqikr] vFkkZr~ 
AB

BC
gS& 

 (1) 1         (2) 2 (3) 
10

7
 (4) 

20

7
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6. A body initially at rest and sliding along a 

frictionless track from a height h (as shown in the 

figure) just completes a vertical circle of diameter 

AB = D. The height h is equal to 

A

Bh

 

 (1) 
7

D
5

 (2) D 

 (3) 
3

D
2

 (4) 
5

D
4

  

7. A metal ball of mass 2 kg moving with a velocity 

of 36 km/h has a head on collision with a stationary 

ball of mass 3 kg. If after the collision, the two 

balls move together, the loss in kinetic energy due 

to collision is 

 (1) 140 J  

 (2) 100 J 

 (3) 60 J  

 (4) 40 J 

8. A uniform rod of length 200 cm and mass 500 g is 

balanced on a wedge placed at 40 cm mark. A mass 

of 2 kg is suspended from the rod at 20 cm and 

another unknown mass m is suspended from the 

rod at 160 cm mark as shown in the figure. Find 

the value of m such that the rod is in equilibrium. 

(g = 10 m/s2) 

2 kg m

0 20 cm 40 cm 160 cm

 

 (1) 
1

 kg
2

  (2) 
5

6
 kg   

 (3) 
1

 kg
6

  (4) 
1

 kg
12

  

 

 

 

6. izkjaHk eas fojkekoLFkk eas ,d fi.M ,d h ÅapkbZ ls 

?k"kZ.kjfgr iFk ds vuqfn'k fQlyrk gS ¼tSlk fd fp= 

eas fn[kk;k x;k gS½ O;kl AB = D ds Å/okZ/kj o`Ùk dks 

iwjk djrk gSA ÅapkbZ h fdlds cjkcj gS\ 

A

Bh

 

 (1) 
7

D
5

 (2) D 

 (3) 
3

D
2

 (4) 
5

D
4

  

7. 2 kg nzO;eku dh ,d /kkrq dh xsan 36 km/h ds osx ls 

pyrh gS] rFkk 3 kg nzO;eku dh fLFkj xsan ls Vdjkrh 

gSA ;fn VDdj ds ckn] nksuksa xsansa ,d lkFk pyrh gSa] 

rks VDdj ds dkj.k xfrt ÅtkZ eas gkfu D;k gksrh gS& 

 (1) 140 J  

 (2) 100 J 

 (3) 60 J  

 (4) 40 J 

8. 200 cm yackbZ vkSj 500 g nzO;eku dh ,d leku NM+ 

dks 40 cm fpUg ij j[ks ,d vk/kkj ij larqfyr fd;k 

tkrk gSA 2 kg dk ,d nzO;eku NM+ ls 20 cm ij 

yVdk fn;k tkrk gS vkSj ,d vU; vKkr nzo;eku m 

dks NM+ ls 160 cm fpUg ij yVdk fn;k tkrk gS tSlk 

fd fp= eas fn[kk;k x;k gSA m dk eku bl izdkj Kkr 

dhft, fd NM+ lkE;koLFkk eas gSA (g = 10 m/s2) 

2 kg m

0 20 cm 40 cm 160 cm

 

 (1) 
1

 kg
2

  (2) 
5

6
 kg  

 (3) 
1

 kg
6

  (4) 
1

 kg
12
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9. A rod PQ of mass M and length L is hinged at end 

P. The rod is kept horizontal by a massless string 

tied to a point Q as shown in figure. When string 

is cut, the initial angular acceleration of the rod is 

 

L

P Q

 

 (1) 
3g

2L
 (2) 

g

L
  

 (3) 
2g

L
 (4) 

2g

3 L
  

10. A solid cylinder of mass M and radius R is slipping 

down on a smooth inclined plane of height h from 

rest. The speed of its centre of mass when it 

reaches the bottom is 

 (1) 2gh   (2) 
4gh

3
  

 (3) 
3gh

4
  (4) 

4 g

 h
  

11. A block of mass m = 25 kg sliding on a smooth 

horizontal surface with a velocity v = 3 ms–1, meets 

the spring of spring constant k = 100 Nm–1 fixed at 

one end as shown in figure. The maximum 

compression of the spring and velocity of block as 

it returns to the original position respectively are 

 

m

v
k

 
 (1) 1.5 m, –3 ms–1  

 (2) 1.5 m, 0.01 ms–1 

 (3) 1.0 m, 3 ms–1  

 (4) 0.5 m, 2 ms–1 

 

 

9. nzO;eku M vkSj yackbZ L dh ,d NM+ PQ var P ij 

fVdh gqbZ gSA NM+ nzO;eku jfgr Mksjh }kjk {kSfrt j[kk 

tkrk gS] tks fp= eas n'kkZ, vuqlkj fcanq Q ls ca/kh gksrh 

gSA tc Mksjh dkVh tkrh gS] rks NM+ dk izkjafHkd dks.kh; 

Roj.k D;k gksrk gS& 

L

P Q

 

 (1) 
3g

2L
 (2) 

g

L
  

 (3) 
2g

L
 (4) 

2g

3 L
  

10. nzO;eku M vkSj f=T;k R dk ,d Bksl csyu h ÅapkbZ 

ds ,d >qds gq, fpdus ry ij fojkekoLFkk ls fQly 

jgk gSA tc ;g uhps igqaprk gS] rks blds nzO;eku dsanz 

dh xfr D;k gksrh gS& 

 (1) 2gh   (2) 
4gh

3
  

 (3) 
3gh

4
  (4) 

4 g

 h
  

11. nzO;eku m = 25 kg dk ,d CykWd ,d fpduh {kSfrt 

lrg ij ,d osx v = 3 ms–1 ds lkFk fQly jgk gS] 

fLizax dk cy fLFkjkad k = 100 Nm–1 gSA fLizax dk 

vf/kdre laihM+u vkSj CykWd dk osx tc og ewy 

fLFkfr eas vkrk gS &fLizax dk ,d fljk n`<+ gS tSlk dh 

fp= esa n”kkZ;k x;k gSA  

m

v
k

 
 (1) 1.5 m, –3 ms–1  

 (2) 1.5 m, 0.01 ms–1 

 (3) 1.0 m, 3 ms–1  

 (4) 0.5 m, 2 ms–1 
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12. An ideal gas is expanding such that PT2 = constant. 

The coefficient of volume expansion of the gas is 

 

 (1) 
1

T
 (2) 

2

T
  

 (3) 
3

T
 (4) 

4

T
  

13. Two coherent light sources P and Q are at a 

distance 3 from each other as shown in the figure. 

The distance from P on the x-axis at which 

constructive interference may take place is 

P x-axis

3

Q
y-axis

 

 (1) 
4


 (2) 3 

 (3) 4 (4) 2 

14. The magnetic field at the centre of a circular 

current carrying loop of radius R is B1. The 

magnetic field on its axis at a distance R from the 

centre is B2. The value of B1 : B2 will be 

 (1) 2 :1  (2) 1: 2   

 (3) 2 2 :1   (4) 1:2 2   

15. The electric current through 15 resistance shown 

in electric circuit is 

10V20V 10 5

15
 

 (1) Zero (2) 1 A 

 (3) 2 A (4) 3 A 

16. 10 g of hot water at 60°C is mixed with 5 g of water 

at 20°C. The temperature of mixture in equilibrium 

is 

 (1) 
140

°C
3

 
 
 

 (2) 
120

°C
3

 
 
 

  

 (3) 
110

°C
3

 
 
 

 (4) 
160

°C
3

 
 
 

  

12. ,d vkn'kZ xSl dk foLrkj bl izdkj gks jgk gS fd 

PT2 = fLFkfjkad gSA xSl dk vk;ru foLrkj dk xq.kkad 

D;k gS& 

 (1) 
1

T
 (2) 

2

T
  

 (3) 
3

T
 (4) 

4

T
  

13. nks dyk lEc) izdk'k lzksr P vkSj Q ,d nwljs ls 3 

dh nwjh ij gSa tSlk fp= eas fn[kk;k x;k gSA x-v{k ij 

P ls nwjh] ftl ij lEiks’kh O;fDrdj.k gks ldrk gSA 

P x-axis

3

Q
y-axis

 

 (1) 
4


 (2) 3 

 (3) 4 (4) 2 

 

14. f=T;k R ds ,d o`Ùkh; /kkjk okgd ywi ds dasnz ij 

paqcdh; {ks= B1 gSA blds v{k ij dsanz ls R nwjh ij 

paqcdh; {ks= B2 gSA B1 : B2 dk eku gks tk,xk& 

 (1) 2 :1  (2) 1: 2   

 (3) 2 2 :1   (4) 1:2 2   

15. fo|qr ifjiFk eas 15 izfrjks/k ds ek/;e ls fo|qr izokg 

fn[kk;k x;k gS& 

10V20V 10 5

15
 

 (1) Zero (2) 1 A 

 (3) 2 A (4) 3 A 

16. 60°C ij 10 g xeZ ikuh dk 20°C ij 5 g ikuh ds lkFk 

feyk;k tkrk gSA larqyu eas feJ.k dk rkieku D;k 

gS& 

 (1) 
140

°C
3

 
 
 

 (2) 
120

°C
3

 
 
 

  

 (3) 
110

°C
3

 
 
 

 (4) 
160

°C
3

 
 
 
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17. A 200 kg satellite is revolving around earth in 

circular orbit of radius 2R. Amount of energy 

required to transfer it to a circular orbit of radius 

4R is [Me = 6 × 1024 kg, R = 6.4 × 106 m] 

 (1) 1.57 × 109 J (2) 1.57 × 106 J 

 (3) 3.13 × 109 J (4) 3.13 × 106 J 

18. The correct conclusion that can be drawn from 

these figures is 

µ1

µ1

µ

µ2
µ2

µ

 
 (1) µ1 < µ and µ < µ2 

 (2) µ1 > µ and µ > µ2 

 (3) µ1 > µ and µ2 = µ 

 (4) µ1 < µ and µ2 = µ 

19. The arrangement of the logic gates shown below 

effectively works as 

 
 (1) AND gate (2) OR gate 

 (3) NAND gate (4) NOR gate  

20. In radioactive decay process, the negatively 

charged emitted -particles are: 

 (1) The electrons orbiting around the nucleus 

 (2) The electrons produced as a result of collision 

between atoms 

 (3) The electron present inside the nucleus 

 (4) The electrons produced as a result of the decay 

of neutrons inside the nucleus  

21. In a nuclear reaction 

 A 0

Z 1X Y 2v+→ +  +   

 229

89Y Z 2  Energy → +  +   

 Determine the mass number and atomic number of 

element X ? 

 (1) 237,92 (2) 237,94 

 (3) 237,91 (4) 237,95 

17. 200 kg dk,d mixzg f=T;k 2R dh xksykdkj d{kk eas 

i`Foh ds pkjksa vksj ?kwe jgk gSA bls 4R f=T;k dh 

o`Ùkkdkj d{kk eas :Fkkukarfjr djus ds fy, vko';d 

ÅtkZ dh ek=k gS [Me = 6 × 1024 kg, R = 6.4 × 106 m] 

 (1) 1.57 × 109 J (2) 1.57 × 106 J 

 (3) 3.13 × 109 J (4) 3.13 × 106 J 

18. bu vkadM+ksa ls tks lgh fu"d"kZ fudkyk tk ldrk gS] 

og gS& 

µ1

µ1

µ

µ2
µ2

µ

 
 (1) µ1 < µ vkSj µ < µ2 

 (2) µ1 > µ vkSj µ > µ2 

 (3) µ1 > µ vkSj µ2 = µ 

 (4) µ1 < µ vkSj µ2 = µ 

19. uhps fn[kk, x, ykWftd xsV~l dh O;oLFkk izHkkoh :i 

ls dke djrh gS& 

 
 (1) AND gate (2) OR gate 

 (3) NAND gate (4) NOR gate  

20. jsfM;ks/kehZ {k; izfØ;k eas] mRlftZr _.kkREd vkosf'kr 

-d.k gSa& 

 (1) ukfHkd ds pkjksa vksj ifjØek djus okys bysDVªkWu 

 (2) ijek.kqvksa ds chp Vdjko ds ifj.kkeLo:i mRiUu 

bysDVªkWu 

 (3) ukfHkd ds vanj ekStwn bysDVªkWu 

 (4)  ukfHkd ds vanj U;wVªkWu ds {k; ds dkj.k mRiUu 

bysDVªkWuA 

21. ,d ijek.kq izfrfØ;k eas 

 A 0

Z 1X Y 2v+→ +  +   

 229

89Y Z 2  Energy → +  +   

 rRo X dh nzO;eku la[;k vkSj ijek.kq la[;k Kkr 

dhft;s& 

 (1) 237,92 (2) 237,94 

 (3) 237,91 (4) 237,95 
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22. If potential (in volts) in a region is expressed as 

V(x, y, z) = 6xy – y + 2yz, the electric field (in 

N/C) at point (1,1,0) is 

 (1) ˆ ˆ ˆ(2i 3j k)− + +   (2) ˆ ˆ ˆ(6i 9j k)− + +   

 (3) ˆ ˆ ˆ(3i 5j 3k)− + +  (4) ˆ ˆ ˆ(6i 5j 2k)− + +   

23. A hollow cylinder has a charge q coulomb within 

it at the geometrical centre. If  is the electric flux 

in units of volt meter associated with the curved 

surface B, the flux linked with the plane surface A 

in units of V-m will be 

 

 (1) 
0

q

2
  (2) 

3


  

 (3) 
0

q
− 


 (4) 

0

1 q

2

 
−  

 
  

24. Three very large plates are given charges as shown 

in the figure. If the cross-sectional area of each 

plate is large as compared to separation, the final 

charge distribution on plate C is 
Q –5Q 10Q

A B C

Outer
surface

Inner surface  
 (1) +5Q on the inner surface, +5Q on the outer 

surface. 

 (2) +6Q on the inner surface, +40 on the outer 

surface. 

 (3) +7Q on the inner surface, +3Q on the outer 

surface. 

 (4) +8Q on the inner surface, +2Q on the outer 

surface.  

 

 

22. ;fn fdlh {ks= eas foHko (oksYV eas) dks V(x, y, z) = 6xy 

– y + 2yz ds :i eas O;Dr fd;k tkrk gS] rks fcanq 

(1,1,0) ij fo|qr {ks= (N/C eas) D;k gksxk& 

 (1) ˆ ˆ ˆ(2i 3j k)− + +   (2) ˆ ˆ ˆ(6i 9j k)− + +   

 (3) ˆ ˆ ˆ(3i 5j 3k)− + +  (4) ˆ ˆ ˆ(6i 5j 2k)− + +   

23. ,d [kks[kys csyu ds Hkhrj T;kferh; dsanz ij vkos'k 

q dwykWe gksrk gSA vxj  oØ i`"B B ls laca) ¶yDl 

oksYV ehVj dh bdkb;ksa esa gS] rc lery lrg A ls 

lEc) ¶yDl V-m bdkbZ esa gksxk& 

 

 (1) 
0

q

2
  (2) 

3


  

 (3) 
0

q
− 


 (4) 

0

1 q

2

 
−  

 
  

24. fp= eas n'kkZ, vuqlkj rhu cgqr cM+h IysVksa dks vkos'k 

fn, x, gSaA ;fn muds chp dh nwjh dh rqyuk eas 

izR;sd IysV dk vuqizLFk dkV {ks=Qy cM+k gS] rks IysV 

C ij vafre vkos'k forj.k D;k gS& 
Q –5Q 10Q

A B C

Outer
surface

Inner surface  
 (1) vkarfjd lrg ij +5Q, ckgjh lrg ij +5Q 

  

 (2) vkarfjd lrg ij +6Q, ckgjh lrg ij +40 

  

 (3) vkarfjd lrg ij +7Q, ckgjh lrg ij +3Q 

  

 (4) vkarfjd lrg ij +8Q, ckgjh lrg ij +2Q  
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25. A bar magnet is oscillating in the Earth's magnetic 

field with a period T. What happens to its period 

and motion if its mass is quadrupled? 

 (1) Motion remains simple harmonic with time 

period = T/2 

 (2) Motion remains S.H.M with time period = 2T 

 (3) Motion remains S.H.M with time period = 4T 

 (4) Motion remains S.H.M and period remains 

nearly constant 

26. A rectangular loop with a sliding connector of 

length = 1.0 m is situated in a uniform magnetic 

field B = 2T perpendicular to the plane of loop. 

Resistance of connector is r = 2. Two resistance 

of 6 and 3 are connected as shown in figure. 

The external force required to keep the connector 

moving with a constant velocity v = 2 m/s is 

v 36

 
 (1) 6N (2) 4N 

 (3) 2N (4) 1N 

27. A conducting rod of length 2l is rotating with 

constant angular speed  about its perpendicular 

bisector. A uniform magnetic field B  exists 

parallel to the axis of rotation. The e.m.f. induced 

between two ends of the rod is 


B


 

 (1) Bl2 (2) 
21

B l
2

   

 (3) 
21

B l
8

  (4) Zero  

 

 

25. ,d NM+ paqcd i`Foh ds paqcdh; {ks= eas T vkorZ ds 

lkFk nksyu dj jgk gSA ;fn blds nzO;eku dks pkj 

xquk dj fn;k tk, rks blds vkorZdky rFkk xfr ij 

D;k izHkko iM+rk gS\ 

 (1) xfr vkorZdky T/2 ds lkFk ljy vkorZ jgrh gSA 

 (2) vkorZdky  2T  ds lkFk xfr S.H.M jgrh gSA 

 (3) xfr vkorZdky = 4T S.H.M jgrh gS  

 (4) xfr S.H.M jgrh gS vkSj vof/k yxHkx fLFkj jgrh 

gS 

26. ,d vk;rkdkj ywi ,d ,dleku paqcdh; {ks= B = 

2T eas fLFkr gS] tks ywi ds ry ds yacor~ gSA dusDVj 

dk izfrjks/k r = 2 gS rFkk yEckbZ = 1.0 m gSA 6 

ds rFkk 3 nks izfrjks/k vkSj tqM+s gq, gSa tSlk fd fp= 

eas fn[kk;k x;k gSA dusDVj dks fLFkj osx v = 2 m/s 

ds lkFk xfreku j[kus ds fy, vko';d ckgjh cy 

D;k gS& 

v 36

 
 (1) 6N (2) 4N 

 (3) 2N (4) 1N 

27. 2l yackbZ dh ,d pkyd NM+ fu;r dks.kh; osx  ls 

vius yacor f}Hkktd ds vuqfn”k ?kw.kZu dj jgh gSA 

,d leku paqcdh; {ks= B  ?kw.kZu dh /kqjh ds lekukarj 

ekStwn gSA NM+ ds nks fljksa ds chp izsfjr e.m.f. D;k 

gS& 


B


 

 (1) Bl2 (2) 
21

B l
2

   

 (3) 
21

B l
8

  (4) Zero  
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28. In the figure magnetic energy stored in the coil in 

steady state is. 

 
 (1) Zero (2) Infinite 

 (3) 25 joules (4) None of the above  

29. An EM wave is propagating in a medium with a 

velocity ˆv vi= . The instantaneous oscillating 

electric field of this EM wave is along +y axis. 

Then the direction of oscillating magnetic field of 

the EM wave will be along 

 (1) -z direction (2) +z direction 

 (3) -y direction (4) -x direction 

30. Work-function for caesium metal is 2.14 eV. Let a 

beam of light of frequency 6 × 1014 Hz is incident 

over the metal surface. Now, match the following 

columns and choose the correct option from codes 

given. 

 Column I 

 A. Maximum KE of emitted photoelectrons (in 

eV) 

 B. Minimum KE of emitted photoelectrons (in eV) 

 C. Stopping potential of material (in mV) is 

 D. Maximum speed of the emitted photoelectrons 

(in kms–1) 

 Column II 

 (1) 332.3 (2) 345 

 (3) 0.345 (4) 0 

 (1) (A-4),(B-3),(C-2),(D-1) 

 (2) (A-3),(B-4),(C-2),(D-1) 

 (3) (A-3),(B-1),(C-4),(D-2) 

 (4) (A-2),(B-1),(C-4),(D-3) 

31. Two slits in Young's double slit experiments have 

width in ratio 1: 25. The ratio of intensity at the 

maxima and minima in the interference pattern 

max

min

I

I
 is 

 (1) 
9

4
 (2) 

121

49
  

 (3) 
49

121
 (4) 

4

9
  

28. fp= eas dqaMyh eas fLFkj voLFkk eas laxzghr paqcdh; ÅtkZ 

gS& 

 
 (1) 'kwU; (2) vuar 

 (3) 25 joules (4) mijksDr eas ls dksbZ ugha 

29. ,d EM rjax ˆv vi=  ds lkFk ,d ek/;e eas QSy jgh 

gS bl EM rjax dk rkRdkfyd nksyu fo|qr {ks= +y 

v{k ds lkFk gSA rc EM rjax ds pqacdh; {ks= ds nksyu 

dh fn'kk gksxh& 

 (1) -z fn'kk (2) +z fn'kk 

 (3) -y fn'kk (4) -x fn'kk 

 

30. lhft;e /kkrq ds fy, dk;Z&Qyu 2.14 eV gSA eku 

yhft, /kkrq ds i`"B ij 6 × 1014 Hz vko`fÙk dk izdk'k 

iaqt vkifrr gksrk gSA vc] fuEufyf[kr dkWye dk 

feyku djsa vkSj fn, x, dksM ls lgh fodYi pqaus& 

 dkWye I 

 A. mRlftZr QksVksbysDVªkWuksa dk vf/kdre KE (eV esa) 

 B. mRlftZr QksVksbysDVªkWuksa dk U;wure KE (eV eas) 

 C. inkFkZ dk fujks/k foHko (mV eas) gksxk 

 D. mRlftZr izdkf'kd bysDVªkWuksa dh vf/kdre xfr 

(kms–1 
eas) 

 dkWye II 

 (1) 332.3 (2) 345 

 (3) 0.345 (4) 0 

 (1) (A-4),(B-3),(C-2),(D-1) 

 (2) (A-3),(B-4),(C-2),(D-1) 

 (3) (A-3),(B-1),(C-4),(D-2) 

 (4) (A-2),(B-1),(C-4),(D-3) 

31. ;ax ds Mcy fLyV iz;ksxksa eas nks fLyV~l dh pkSM+kbZ 

vuqikr 1: 25 gSA O;frdj.k iSVuZ eas vf/kdre vkSj 

U;wure ij rhozrk dk vuqikr 
max

min

I

I
 gS& 

 (1) 
9

4
 (2) 

121

49
  

 (3) 
49

121
 (4) 

4

9
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32. If the 8 th bright band due to light of wavelength 

1 coincides with 9 th bright band from light of 

wavelength 2 in Young's double slit experiment, 

then the possible wavelengths of visible light are 

 

 (1) 400 nm and 450 nm 

 (2) 425 nm and 400 nm 

 (3) 400 nm and 425 nm 

 (4) 450 nm and 400 nm 

33. If an electron in a hydrogen atom jumps from the 

3 rd orbit to the 2nd orbit, it emits a photon of 

wavelength . When it jumps from the 4th orbit to 

the 3rd orbit, the corresponding wavelength of the 

photon will be 

 (1) 
16

25
  (2) 

9

16
   

 (3) 
20

7
  (4) 

20

13
   

34. Out of the following which one is a forward biased 

diode? 

 (1) 
–4V –2V

 

 (2) 
2V 5V

 

 (3) 
–2V +2V

 

 (4) 
0V –3V

 

35. In a n-type semiconductor, which of the following 

statement is true? 

 (1) Electrons are majority carriers and trivalent 

atoms are dopants 

 (2) Electrons are minority carriers and pentavalent 

atoms are dopants 

 (3) Holes are minority carriers and pentavalent 

atoms are dopants 

 (4) Holes are majority carriers and trivalent atoms 

are dopants 

 

 

 

32. ;fn rjaxnS/;Z 1 ds izdk'k ds dkj.k 8 oka mTtoy cSaM  

rjaxnS/;Z ds 2  izdk'k ls 9 osa mTtoy cSaM ds lkFk 

esy [kkrk gS] rc ;ax ds Mcy fLyV iz;ksx eas] n`'; 

izdk'k dh laHkkfor rjaxnS/;Z gSa& 

 (1) 400 nm vkSj 450 nm 

 (2) 425 nm vkSj 400 nm 

 (3) 400 nm vkSj 425 nm 

 (4) 450 nm vkSj 400 nm 

33. ;fn gkbMªkstu ijek.kq eas ,d bysDVªkWu rhljs d{kk ls 

nwljs d{kk eas dwnrk gS] rks ;g rjaxnS/;Z  dk ,d 

QksVkWu mRlftZr djrk gSA tc ;g pkSFkh d{kk ls 

rhljh d{kk eas dwnrk gS] rks QksVkWu dh rnuq:ih 

rjaxnS/;Z D;k gksxk& 

 (1) 
16

25
  (2) 

9

16
   

 (3) 
20

7
  (4) 

20

13
   

34. fuEufyf[kr eas ls dkSu&lk vxzfnf'kd ck;flr Mk;ksM 

gS& 

 (1) 
–4V –2V

 

 (2) 
2V 5V

 

 (3) 
–2V +2V

 

 (4) 
0V –3V

 

35. n-izdkj ds v/kZpkyd eas] fuEufyf[kr eas ls dkSu&lk 

dFku lR; gS\ 

 (1) bysDVªkWu cgqla[;d okgd gSa vkSj f=la;kstd 

ijek.kq MksisaV gS 

 (2) bysDVªkWu vYila[;d okgd gSa vkSj iapla;kstd 

ijek.kq MksisaV gSa 

 (3) gksy vYila[;d okgd gSa vkSj iapla;kstd ijek.kq 

MksisaV gSa 

 (4) gksy cgqla[;d okgd gSa vkSj f=la;kstd ijek.kq 

MksisaV gSa 
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36. One end of a uniform wire of length L and of 

weight W is attached rigidly to a point in the roof 

and a weight W1 is suspended from its lower end. 

If S is the area of cross-section of the wire, the 

stress in the wire at a height 3L/4 from its lower 

end is 

 (1) 1W

S
  (2) 1W (W / 4)

S

+
  

 (3) 1W (3W / 4)

S

+
  (4) 1W W

S

+
  

37. The coefficient of thermal conductivity of copper 

is nine times that of steel. In the composite 

cylindrical bar shown in the figure. What will be 

the temperature at the junction of copper and steel 

 
 (1) 75°C (2) 67°C 

 (3) 33°C (4) 25°C 

38. A thermodynamic process is shown in the figure. 

The pressures and volumes corresponding to some 

points in the figure are : PA = 3 × 104 Pa, PB = 8 × 

104 Pa and VA = 2 × 10–3 m3, VD = 5 × 10–3 m3. In 

process AB, 600 J of heat is added to the system 

and in process BC, 200 J of heat is added to the 

system. The change in internal energy of the 

system in process AC would be 

 
 (1) 560 J (2) 800 J 

 (3) 600 J (4) 640 J  

 

 

 

 

 

 

 

36. L rFkk W Hkkj ds ,dleku rkj dk ,d fljk Nr ds 

fdlh fcanq ls dBksjrk ls tqM+k gqvk gS rFkk mlds 

fupys fljs ls ,d Hkkj W1 fuyafcr gSA ;fn rkj dh 

vuqizLFk dkV dk {ks=Qy S gS] rks rkj ds fupys fljs 

ls 3L/4 ÅapkbZ ij fLFkr izfrcy D;k gS& 

 

 (1) 1W

S
  (2) 1W (W / 4)

S

+
  

 (3) 1W (3W / 4)

S

+
  (4) 1W W

S

+
  

37. rkacs dh rkih; pkydrk dk xq.kkad LVhy dk ukS xquk 

gSA fp= eas fn[kk, x, lexz csyukdkj NM+ easA rkacs 

vkSj LVhy ds taD'ku ij rkieku D;k gksxk& 

 
 (1) 75°C (2) 67°C 

 (3) 33°C (4) 25°C 

 

38. fp= eas ,d FkeksZMk;ukfed izfØ;k fn[kkbZ xbZ gSA fp= 

eas dqN fcanqvksa ds vuq:i nkc vkSj vk;ru fuEu gSa% 

PA = 3 × 104 Pa, PB = 8 × 104 Pa vkSj VA = 2 × 10–3 

m3, VD = 5 × 10–3 m3 izØe AB eas fudk; eas 600 J 

Å"ek nh tkrh gS vkSj izfØ;k BC eas fudk; eas 200 J 

Å"ek nh tkrh gSA izfØ;k AC eas iz.kkyh dh vkarfjd 

ÅtkZ eas ifjorZu D;k gksxk& 

 
 (1) 560 J (2) 800 J 

 (3) 600 J (4) 640 J  
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39. Two identical springs of constant k are connected 

in series and parallel as shown in figure. A mass m 

is suspended from them. The ratio of their 

frequencies of vertical oscillation will be 

m

k

k

m

k k

 
 (1) 2: 1 (2) 1: 1 

 (3) 1: 2 (4) 4: 1 

40. Two particles of equal mass have velocities 
1

1
ˆv 2i ms−=  and 1

2
ˆv 2j ms−= . The first particle has 

an acceleration of 2

1
ˆ ˆa (3i 3j)ms−= +  while other 

has no acceleration. The centre of mass of the 

system moves in a path of 

 (1) Straight line (2) Parabola 

 (3) Circular (4) Elliptical 

41. A tuning fork vibrating with frequency of 500 Hz 

is kept close to open end of a tube filled with water. 

The water level in tube is gradually lowered. When 

water level is 17 cm below the open end, 

maximum intensity of sound is heard. What is 

speed of sound in air at that time? 

 (1) 330 m s–1 (2) 340 m s–1 

 (3) 360 m s–1 (4) 350 m s–1 

42. A 4 A current loop consists of three identical 

quarter circles of radius 5 cm lying in positive 

quadrant of x-y, y-z and z-x planes with their 

centres at origin joined together as shown in 

figure. Value of B  at origin is 

 

 (1) 0 ˆ ˆ ˆ( i j k)T
10


− + +  (2) 0 ˆ ˆ ˆ(i j k)T

10


+ −   

 (3) 0
ˆ ˆ ˆ10 (i j k)T + +   (4) 0

ˆ ˆ ˆ10 (i j k)T − −   

39. fLFkjkad k ds nks le:i fLizaXl fp= esa fn[kk;s x;s 

vuqlkj Js.kh rFkk lekUrj Øe esa tqM+s gSA ,d nzO;eku 

m muls fuyafcr gSA Å/okZ/kj nksyu dh mudh 

vko`fÙk;ksa dk vuqikr D;k gksxk& 

m

k

k

m

k k

 
 (1) 2: 1 (2) 1: 1 

 (3) 1: 2 (4) 4: 1 

40. leku nzO;eku ds nks d.kksa ds osx gksrs gSa 
1

1
ˆv 2i ms−=  

vkSj 
1

2
ˆv 2j ms−=  igys d.k dk Roj.k 

2

1
ˆ ˆa (3i 3j)ms−= +  tcfd vU; eas dksbZ Roj.k ugha gSA 

fudk; dk nzO;eku dsUnz fdlds iFk eas xfr djrk gS& 

 (1) ljy js[kk (2) ijoy; 

 (3) oÙ̀kkdkj (4) v.Mkdkj 

41. 500 Hz dh vko`fÙk ds lkFk daiu djus okyk ,d 

V~;wfuax dkaVk ikuh ls Hkjh ,d V~;wc ds [kqys fljs ds 

djhc j[kk tkrk gSA V~;wc eas ikuh dk Lrj /khjsU/khjs 

de gks tkrk gSA tc ty Lrj [kqys fljs ls 17 cm 

uhps gksrk gS] rks /ofu dh vf/kdre rhozrk lqukbZ nsrh 

gSA ml le; ok;q eas /ofu dh pky fdruh gksrh gS\ 

 (1) 330 m s–1 (2) 340 m s–1 

 (3) 360 m s–1 (4) 350 m s–1 

42. ,d 4 A /kkjk ik'k eas 5 cm f=T;k ds rhu leku o`Ùk 

ds pkSFkkbZ Hkkx fp=kuqlkj tqMs gSa] tks x-y, y-z rFkk z-

x ry ds /kukRed prqFkkZa'k eas fLFkr gksrs gSa vkSj lHkh 

o`r ds dsUnz ewy fcUnq ij gSA B  dk eku gS& 

 

 (1) 0 ˆ ˆ ˆ( i j k)T
10


− + +  (2) 0 ˆ ˆ ˆ(i j k)T

10


+ −   

 (3) 0
ˆ ˆ ˆ10 (i j k)T + +   (4) 0

ˆ ˆ ˆ10 (i j k)T − −   
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43. A ray of light is incident on an equilateral glass 

prism placed on a horizontal table. For minimum 

deviation which of the following is true ? 

 
 (1) PQ is horizontal (2) QR is horizontal 

 (3) RS is horizontal (4) Either PQ or RS is horizontal 

44. Assertion (A) : When height of a capillary tube is 

less than liquid rise in the capillary tube then the 

liquid does not over flow. 

 Reason (R): Product of radius of meniscus and 

height of liquid in capillary tube always remains 

constant. 

 (1) Both (A) and (R) are correct but (R) is not the 

correct explanation of (A) 

 (2) (A) is correct but (R) is not correct 

 (3) (A) is incorrect but (R) is correct 

 (4) Both (A) and (R) are correct and (R) is the 

correct explanation of (A)  

45. A mark placed on the surface of a sphere is viewed 

through glass from a position directly opposite as 

shown in the figure. The diameter of the sphere is 

30 cm and refractive index of glass is 1.5. The 

position of the image is 
A

O P B

C

Mark View side

 
 (1) at a distance of 60 cm from point B of surface 

ABC in the direction of incident light 

 (2) at a distance of 60 cm from point B of the 

surface ABC opposite to the direction of 

incident light 

 (3) at a distance of 30 cm from point O of the 

surface AOC opposite to the direction of 

incident light on ABC 

 (4) Both (2) and (3)  

43. izdk'k dh fdj.k {ksfrt est ij j[ks leckgq dkap ds 

fizTe ij vkifrr gksrh gSA U;wure fopyu ds fy, 

fuEufyf[kr eas ls dkSu lk lR; gS\ 

 
 (1) PQ {kSfrt gS (2) QR {kSfrt gS 

 (3) RS {kSfrt gS (4) ;k rks PQ ;k RS {kSfrt gS 

44. dFku (A) : tc dsf'kdk V~;wc dh ÅapkbZ dsf'kdk V~;wc 

eas Åij p<+us okys rjy dh Å¡pkbZ ls de gksrh gS] rks 

rjy ds”kufydk ls ckgj ugha vkrk gSA  

 dkj.k (R): esfuLdl dh f=T;k vkSj dsf'kdk V~;wc eas 

rjy dh ÅapkbZ dk xq.kuQy ges'kk fLFkj jgrk gSA 

 (1) nksuksa (A) vkSj (R) lgh gSa ysfdu (R), (A) dk lgh 

Li"Vhdj.k ugha gS 

 (2) (A) lgh gS ysfdu (R) xyr gSA 

 (3) (A) xyr gS ysfd (R) lgh gS 

 (4) nksuksa (A) vkSj (R) lgh gSa ysfdu (R), (A) dk lgh 

Li"Vhdj.k gS 

45. ,d xksys dh lrg ij j[ks x, fu'kku dks dkap ds 

ek/;e ls fp= eas fn[kk, x, vuqlkj Bhd foijhr 

fLFkfr ls ns[kk tkrk gSA xksys dk O;kl 30 cm gS vksj 

dkap dk viorZukad 1.5 gSA izfrfcac dh fLFkfr gS& 

A

O P B

C

Mark View side

 
 (1)  lrg ABC ds fcanq B ls 60 cm dh nwjh ij vkifrr 

izdk'k dh fn'kk eas 

 (2)  lrg ABC ds fcanq B ls 60 cm dh nwjh ij 

vkifrr izdk'k dh fn'kk ds foijhr 

  

 (3)  ABC ij vkifrr izdk'k dh fn'kk ds foijhr lrg 

AOC ds fcanq O ls 30 cm dh nwjh ij 

  

 (4) (2) vkSj (3) nksuksa 



 

Space for rough work 

 

 

 

 

 

 

 

 

 

 

 

 

Narayana Jaipur HO: B-28, Gopalpura Bypass Road, 10-B Scheme, Near Ridhi Sidhi Circle, Jaipur, Rajasthan 302018 
(15) 

 

PART – II : CHEMISTRY 
46.  Match the items of Column-A to those of Column-

B 

 Column-A (Reagent)  

 (a) 2 2NH NH / OH−−  

 (b) Zn Hg / HCl−  

 (c) 
3 3CH Cl Anhy.AlCl+  

 (d) Sodalime 

 Column-B (Name of Reaction) 

 (i) Clemmensen reduction 

 (ii) Wolf-kishner reduction 

 (iii) Decarboxylation 

 (iv) Friedel craft reaction 

 (1) a-ii, b-i, c-iv, d-iii 

 (2) a-ii, b-i, c-iii, d-iv 

 (3) a-i, b-ii, c-iv, d-iii 

 (4) a-iv, b-i, ii, c-iii, d-i 

47. Which of the following compound is aromatic in 

nature. 

 (1)  (2)  

 (3)  (4)  

48. Identify the final product in following reaction.  

 

  

 (1)   

 (2)  

 (3)   

 (4)  

 

46. d‚ye&A dk d‚ye& B ls feyku dhft,& 

 

 d‚ye-A ¼vfHkdeZd½  

 (a) 2 2NH NH / OH−−  

 (b) Zn Hg / HCl−  

 (c) 
3 3CH Cl Anhy.AlCl+  

 (d) lksMkykbe 

 d‚ye-B ¼vfHkfØ;k dk uke½ 

 (i) Dysesalu vip;u 

 (ii) oqYQ&fd'uj vip;u 

 (iii) fMdkcksZfDlyhdj.k 

 (iv) ÝhMsy Øk¶V vfHkfØ;k 

 (1) a-ii, b-i, c-iv, d-iii 

 (2) a-ii, b-i, c-iii, d-iv 

 (3) a-i, b-ii, c-iv, d-iii 

 (4) a-iv, b-i, ii, c-iii, d-i 

47. fuEufyf[kr esa ls dkSu lk ;kSfxd ç—fr esa ,SjksesfVd 

gS\ 

 (1)  (2)  

 (3)  (4)  

48. fuEufyf[kr vfHkfØ;k esa vafre mRikn dh igpku 

dhft,A  

  

 (1)   

 (2)  

 (3)   

 (4)  
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49. The product (A) and (B) are respectively 

  

 (1)   

 (2)  

 (3)   

 (4)  

50. The correct reactivity order of halogen derivatives 

towards SN1 mechanism is:  

 (i) CH2=CH–CH2–Cl  

 (ii)  

 (iii)   

 (iv)  

 (1) i > ii > iii > iv (2) ii > iii > iv > iii 

 (3) ii > iv > i > iii (4) iii > i > iv > ii 

51.  Which of the following statement(s) is/are 

incorrect? 

 (a)  Emission spectra is always continuous spectra 

 (b)  Atomic spectra is also called line spectra 

 (c) Absorption spectra gives dark lines on the 

 bright continuous spectrum 

 (d)  Electromagnetic radiations propagate even in 

 the absence of medium 

 (1) b and c only (2) c and d only 

 (3) a only (4) c only 

 

49. mRikn (A) vkSj (B) Øe'k% gSa 

  

 (1)   

 (2)  

 (3)   

 (4)  

50. SN1 fØ;kfo/kh ds çfr gSykstu O;qRiUu dh fØ;k”khyrk 

dk lgh Øe gS%  

 (i) CH2=CH–CH2–Cl 

 (ii)  

 (iii)   

 (iv)  

 (1) i > ii > iii > iv (2) ii > iii > iv > iii 

 (3) ii > iv > i > iii (4) iii > i > iv > ii 

51. fuEufyf[kr esa ls dkSu lk@ls dFku xyr gS@gSa\ 

  

 (a) mRltZu LisDVªk ges'kk lr~r LisDVªk gksrk gS 

 (b) ijek.kq LisDVªk dks js[kh; LisDVªk Hkh dgk tkrk gS 

 (c)  vo'kks"k.k LisDVªk] pedhys lr~r LisDVªe ij xgjh 

js[kk,¡ nsrk gS   

 (d) oS|qrpqacdh; fofdj.k ek/;e dh vuqifLFkfr eas Hkh 

lapj.k djrs gSA  

 (1) dsoy b vkSj c (2) dsoy c vkSj d 

 (3) dsoy a (4) dsoy c  
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52.  A bulb of 40 W is producing a light of wavelength 

620 nm with 80 % of efficiency, then the number of 

photons emitted by the bulb in 20 seconds are: 

 (1) 
182 10  (2) 

1810   

 (3) 2110   (4) 212 10  

53.  Increasing order of electron affinity is 

 (1) N O Cl    S (2) O N S Cl    

 (3) N < O < S < Cl (4) Cl < N < O < S 

54.  Match the following: 

 List-I  List-II 

 (a) NO (i) Acidic 

 (b) 
2 3Al O  (ii) Neutral 

 (c) 
2 7Cl O  (iii) Basic 

 (d) 
2Na O  (iv) amphoteric 

 (1) a-(ii), b-(iv), c-(i), d-(iii) 

 (2) a-(ii), b-(iii), c-(i), d-(iv) 

 (3) a-(i), b-(ii), c-(iv), d-(iii) 

 (4) a-(iv), b-(i), c-(iii), d-(ii) 

55. Match the following: 

 Column-I Column-II 

 Molecule No. of L.P. and B.P. at CA 

 (I) 
3NH  (a) 1,2 

 (II) 
2SO  (b) 1,4 

 (III) 
4SF  (c) 2,3 

 (IV) 
3ClF  (d) 1,3 

 (1) I-a, II-b, III-c, IV-d 

 (2) I-a, II-d, III-c, IV-b 

 (3) I-a, II-d, III-b, IV-c 

 (4) I-d, II-a, III-b, IV-c 

56.  Some of the properties of the two species, 2N O


 

and 
2H O described below. Which one of them is 

correct? 

 (1)  Has same geometry 

 (2) Dissimilar in hybridization for the central 

 atom. 

 (3)  Similar in hybridization. 

 (4) Isostructural with same hybridization for the 

 central atom 

52. 40 W dk ,d cYc 80 % n{krk ds lkFk 620 nm 

rjaxnS/;Z dk çdk'k mRiUu dj jgk gS] rks 20 lsdaM 

esa cYc }kjk mRlftZr QksV‚uksa dh la[;k D;k gS\ 

 (1) 182 10  (2) 1810   

 (3) 
2110   (4) 

212 10  

53.  bysDVª‚u ca/kqrk dk c<+rk Øe gS& 

 (1) N O Cl    S (2) O N S Cl    

 (3) N < O < S < Cl (4) Cl < N < O < S 

54. fuEufyf[kr dks lqesfyr djsa% 

 List-I  List-II 

 (a) NO (i) vEyh; 

 (b) 
2 3Al O  (ii) mnklhu 

 (c) 
2 7Cl O  (iii) {kkjh; 

 (d) 
2Na O  (iv) mHk;/kehZ 

 (1) a-(ii), b-(iv), c-(i), d-(iii) 

 (2) a-(ii), b-(iii), c-(i), d-(iv) 

 (3) a-(i), b-(ii), c-(iv), d-(iii) 

 (4) a-(iv), b-(i), c-(iii), d-(ii) 

55. fuEufyf[kr dks lqesfyr djsa% 

 d‚ye-I d‚ye-II 

 v.kq              CA ij L.P. vkSj B.P. dh la[;k 

 (I) 
3NH  (a) 1,2 

 (II) 
2SO  (b) 1,4 

 (III) 
4SF  (c) 2,3 

 (IV) 
3ClF  (d) 1,3 

 (1) I-a, II-b, III-c, IV-d 

 (2) I-a, II-d, III-c, IV-b 

 (3) I-a, II-d, III-b, IV-c 

 (4) I-d, II-a, III-b, IV-c 

56. 2N O


 vkSj 
2H O  nks çtkfr;ksa ds dqN xq.k] uhps of.kZr 

gSA muesa ls dkSu lk lgh gS\ 

  

 (1) ,d gh T;kfefr gS 

 (2)  dsaæh; ijek.kq ds fy, ladj.k esa vleku 

 (3) ladj.k esa leku 

 (4)  dsaæh; ijek.kq ds fy, ,d gh ladj.k ds lkFk  

lelajpukRed   
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57.  When an aldehyde was heated with alkali part of it 

was converted into alcohol and part of it into an 

acid. The aldehyde is 

 

 (1)  An aliphatic aldehyde other than 

formaldehyde 

 (2)  An aliphatic aldehyde or salicylaldehyde 

 (3) An aromatic aldehyde other than 

salicyladehyde 

 (4)  An aromatic aldehyde or formaldehyde 

58. 3NH NaOBr

6 5C H COOH  A


⎯⎯⎯→ ⎯⎯⎯→  

 2 4 Conc. H SO

460 K
 B C.Here C i s :  ⎯⎯⎯⎯⎯→  

 (1)  Sulphanilamide 

 (2)  p-bromosulphanilamide 

 (3)  Sulphanilic acid 

 (4) 
3R COOSO H−  

59. Match List-I with List-II 

 List-I  List-II 

 (a) Carbohydrates (i)  Essential amino acid 

 (b) Proteins (ii)  Glycosidic linkage 

 (c) Adenine (iii) Peptide linkage 

 (d) Valine (iv) Purine base 

 Choose the correct answer from the options given 

below 

 (1) a(iv), b(i), c(iii), d(ii) 

 (2) a(iv), b(ii), c(i), d(iii) 

 (3) a(ii), b(iii), c(i), d(iv) 

 (4) a(ii), b(iii), c(iv), d(i) 

60. 2redP/I Mg

3 2  Ether 
CH CH OH  A  B⎯⎯⎯→ ⎯⎯⎯→  

 2H OHCHO C D⎯⎯⎯→ ⎯⎯⎯→ . The compound D is:  

 (1) Propanal  (2) Butanoal  

 (3) n-butyl alcohol (4) n-propyl alcohol  

 

 

 

57. tc ,d ,fYMgkbM dks {kkj ds lkFk xeZ fd;k tkrk 

gS] rks bldk ,d Hkkx ,Ydksgy esa ifjofrZr gks tkrk 

gS vkSj bldk ,d Hkkx vEy esa cny tkrk gS] rks  

,fYMgkbM gS& 

 (1) Q‚eZyfMgkbM ds vykok ,d ,SfyQSfVd 

,fYMgkbM   

 (2) ,d ,fyQSfVd ,fYMgkbM ;k lSfyflysfYMgkbM 

 (3)  lSfyflykMsgkbM ds vykok ,d ,SjksesfVd 

,fYMgkbM  

 (4) ,d ,SjksesfVd ,fYMgkbM ;k Q‚eZyfMgkbM 

58. 3NH NaOBr

6 5C H COOH  A


⎯⎯⎯→ ⎯⎯⎯→  

 2 4 Conc. H SO

460 K
 B C.⎯⎯⎯⎯⎯→ ;gk¡ C gS% 

 (1)  Sulphanilamide 

 (2)  p-bromosulphanilamide 

 (3)  Sulphanilic vEy 

 (4) 
3R COOSO H−  

59. lwph-I dks lwph-II ds lkFk lqesfyr dhft, 

 List-I  List-II 

 (a) dkcksZgkbMªsV (i)  vko';d vehuks vEy 

 (b) çksVhu (ii)  XykbdksflfMd fyadst 

 (c) ,Msfuu (iii)  isIVkbM fyadst 

 (d) osfyu (iv)  I;wjhu {kkj 

 uhps fn, x, fodYiksa esa ls lgh mÙkj dk p;u dhft, 

 

 (1) a(iv), b(i), c(iii), d(ii) 

 (2) a(iv), b(ii), c(i), d(iii) 

 (3) a(ii), b(iii), c(i), d(iv) 

 (4) a(ii), b(iii), c(iv), d(i) 

60. 2redP/I Mg

3 2  Ether 
CH CH OH  A  B⎯⎯⎯→ ⎯⎯⎯→  

 2H OHCHO C D⎯⎯⎯→ ⎯⎯⎯→ ] rks ;kSfxd D gS%  

 (1) Propanal  (2) Butanoal  

 (3) n-butyl alcohol (4) n-propyl alcohol  
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61. Match the following  

 Column-I  

 (a) 
2 2

HCl

6 5 2 6 5Cu Cl
C H  N Cl C H Cl+ − ⎯⎯⎯→  

 (b) 
HBr

6 5 2 6 5Cu
C H  N Cl C H Br+ − ⎯⎯⎯→  

 (c) 6 5C H OH

6 5 2C H   N Cl+ −− ⎯⎯⎯⎯→  

  

 (d) 2NaNO /HCl

6 5 2 6 5 20 5 C
C H NH C H  N Cl

+ −

−
⎯⎯⎯⎯⎯→  

 Column-II 

 (P) Coupling reaction  

 (Q) Sand Meyers reaction  

 (R) Finkelstein reaction  

 (S) Gattermann reaction  

 (T) Diazotisation reaction  

 (1) a-(P), b-(Q), c-(R), d-(T) 

 (2) a-(R), b-(Q), c-(P), d-(T) 

 (3) a-(Q), b-(S), c-(P), d-(T) 

 (4) a-(R), b-(Q), c-(T), d-(P) 

62. Assertion: Aniline cannot be prepared by 

Gabriel's pthalimide synthesis 

 Reason: Chlorobenzene does not undergo 

nucleophilic substitution 

 (1) If both Assertion & Reason are True & the 

Reason is a correct explanation of the 

Assertion 

 (2) If both Assertion & Reason are True but 

Reason is not a correct explanation of the 

Assertion 

 (3)  If Assertion is True but the Reason is False. 

 (4)  If both Assertion & Reason are False. 

63. The most commonly used reducing agent is  

 (1) AlCl3 (2) PbCl2 

 (3) SnCl4 (4) SnCl2 

 

61. fuEufyf[kr dks lqesfyr dhft,  

 d‚ye-I  

 (a) 
2 2

HCl

6 5 2 6 5Cu Cl
C H  N Cl C H Cl+ − ⎯⎯⎯→  

 (b) 
HBr

6 5 2 6 5Cu
C H  N Cl C H Br+ − ⎯⎯⎯→  

 (c) 6 5C H OH

6 5 2C H   N Cl+ −− ⎯⎯⎯⎯→  

  

 (d) 2NaNO /HCl

6 5 2 6 5 20 5 C
C H NH C H  N Cl

+ −

−
⎯⎯⎯⎯⎯→  

 d‚ye-II 

 (P) ;qXeu vfHkfØ;k  

 (Q) lSaM es;lZ vfHkfØ;k  

 (R)  fQadsyLVhu vfHkfØ;k  

 (S)  xSVjeSu vfHkfØ;k  

 (T)  Mk;tksVhdj.k vfHkfØ;k  

 (1) a-(P), b-(Q), c-(R), d-(T) 

 (2) a-(R), b-(Q), c-(P), d-(T) 

 (3) a-(Q), b-(S), c-(P), d-(T) 

 (4) a-(R), b-(Q), c-(T), d-(P) 

62. dFku% xsfcz;y FkSfyekbM la'ys"k.k }kjk ,fufyu rS;kj 

ugha fd;k tk ldrk gSA 

 dkj.k% Dyksjkscsathu U;wfDy;ksfQfyd çfrLFkkiu esa Hkkx 

ugha ysrk gSA 

(1) ;fn dFku vkSj dkj.k nksuksa lR; gSa vkSj dkj.k 

dFku dh lgh O;k[;k gS 

(2) ;fn dFku vkSj dkj.k nksuksa lR; gSa ysfdu dkj.k 

dFku dh lgh O;k[;k ugha gS 

 (3) ;fn dFku lR; gS ysfdu dkj.k vlR; gSA 

 (4) ;fn dFku vkSj dkj.k nksuksa vlR; gSaA 

63. cgqr lkekU;r;k iz;ksx fd;k tkus okyk vipk;d gSA  

 (1) AlCl3 (2) PbCl2 

 (3) SnCl4 (4) SnCl2 
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64.  Which of the following is correct w.r.t. basic 

character of hydrides of th 15 group elements? 

 (1) 
3 3 3 3 3NH PH AsH SbH BiH     

 (2) 
3 3 3 3 3NH PH AsH SbH BiH     

 (3) 
3 3 3 3 3PH AsH NH SbH BiH     

 (4) 
3 3 3 3 3NH PH BiH AsH SbH     

65.  
3O  is quite unstable and decomposes to 

2O  gas 

because for 
3 22O 3O→ . 

 (1) G 0, H 0, S 0       

 (2) G 0, H 0, S 0       

 (3) G 0, H 0, S 0       

 (4) G 0, H 0, S 0       

66. Arrange compounds XeF2, XeF4 and XeF6 in the 

increasing order of number of L.P. at central atom?  

 (1) XeF6, XeF4, XeF2 

 (2) XeF4, XeF6, XeF2 

 (3) XeF6, XeF2, XeF4 

 (4) XeF2, XeF6, XeF4 

67. Among 
2LiCl,RbCl,BeCl  and 

2MgCl  the 

compound with greatest and least ionic character 

respectively are : 

 (1) LiCl,RbCl  (2) 
2RbCl,BeCl  

 (3) 
2RbCl,MgCl  (4) 

2 2MgCl ,BeCl  

68. Consider the following standard reduction potentials: 

 

2 o

2 o

2 o

2 o

2 2

2 o

Ca 2e Ca; E 2.76 V

 Pb 2e Pb E 0.13 V

Cu 2e Cu; E 0.34 V

Hg 2e Hg ; E 0.80 V

Pt 2e Pt E 1.20 V

+ −

+ −

+ −

+ −

+ −

+  = −

+  = −

+  =

+  =

+  =

 

 Which of the following metals is the strongest 

REDUCING AGENT 

 (1) Ca (2) Pb 

 (3) Cu (4) Hg 

 

 

 

64. fuEufyf[kr esa ls dkSu lk oxZ 
th 15  ds gkbMªkbM ds 

{kkjh; y{k.k ds laca/k esa lgh gS\ 

 (1) 
3 3 3 3 3NH PH AsH SbH BiH     

 (2) 
3 3 3 3 3NH PH AsH SbH BiH     

 (3) 
3 3 3 3 3PH AsH NH SbH BiH     

 (4) 
3 3 3 3 3NH PH BiH AsH SbH     

65. 
3O  dkQh vfLFkj gS vkSj 

2O esa fo?kfVr gks tkrk gS 

D;ksafd
3 22O 3O→  ds fy,  

 (1) G 0, H 0, S 0       

 (2) G 0, H 0, S 0       

 (3) G 0, H 0, S 0       

 (4) G 0, H 0, S 0       

66. ;kSfxd XeF2, XeF4 vkSj XeF6 dks dsfUnz; ijek.kq ij 

L.P. dh la[;k ds c<+rs Øe esa O;ofLFkr dhft,? 

 (1) XeF6, XeF4, XeF2 

 (2) XeF4, XeF6, XeF2 

 (3) XeF6, XeF2, XeF4 

 (4) XeF2, XeF6, XeF4 

67. 
2LiCl,RbCl,BeCl vkSj 

2MgCl  esa lcls vf/kd vkSj 

lcls de vk;fud y{k.k okys ;kSfxd Øe'k% gSa% 

  

 (1) LiCl,RbCl  (2) 
2RbCl,BeCl  

 (3) 
2RbCl,MgCl  (4) 

2 2MgCl ,BeCl  

68. fuEufyf[kr ekud vip;u foHko ij fopkj dhft,& 

 

2 o

2 o

2 o

2 o

2 2

2 o

Ca 2e Ca; E 2.76 V

 Pb 2e Pb E 0.13 V

Cu 2e Cu; E 0.34 V

Hg 2e Hg ; E 0.80 V

Pt 2e Pt E 1.20 V

+ −

+ −

+ −

+ −

+ −

+  = −

+  = −

+  =

+  =

+  =

 

  fuEufyf[kr esa ls dkSu lk /kkrq lcls izcy vipk;d 

gS 

 (1) Ca (2) Pb 

 (3) Cu (4) Hg 
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69.  One mole of a non-ideal gas undergoes a change 

of state from ( 2.0 atm,3.0 L,95 K ) to (4.0 atm , 

5.0 L,245 K ) with a change in internal energy, 

U 30.0 L = atm. The change in enthalpy for the 

process is 

 (1) 40.0 L atm (2) 58.0 L atm 

 (3) 44.0 L atm (4) Zero 

70.  Calculate C H− Bond energy from the following 

data: 

 

 

f

f

f 4

H [C( g)] 716.68 kJ / mole

H [H( g)] 217.97 kJ / mole

H CH ( g) 74.81 kJ / mole

 =

 =

 = −

 

 (1) 1663.37 kJ (2) 415.84 kJ 

 (3) 179.17 kJ (4) 74.81 kJ 

71. The decomposition of 
2 4N O is carried out at 280 

K in chloroform. When equilibrium has been 

established, 0.2 mol of 
2 4N O  and 

32 10  mol−  of 

2NO  are present in 2 litre solution. The 

equilibrium constant for reaction 
2 4 2N O 2NO  

is 

 (1) 21 10−  (2) 32 10−  

 (3) 
51 10−  (4) 

52 10−  

72. In Carius method of estimation of bromine, 0.5 g 

of an organic compound gave 0.376 g of AgBr The 

percentage of bromine present in the organic 

compound is (Atomic mass of Ag 108u= and 

Br 80u= ) 

 (1) 40% (2) 32% 

 (3) 24% (4) 48% 

73.  Consider the following reaction sequence 

 2SOCl KCN

3 2 2CH CH CH OH  A  B⎯⎯⎯→ ⎯⎯⎯→  

 
2

DIBAL H

(ii)H O
C (major)−⎯⎯⎯⎯→ . Product C is a/an 

 (1) Carboxylic acid  

 (2) Amide 

 (3) Amine  

 (4) Aldehyde 

 

69. ,d vukn'kZ xSl dk ,d eksy  

 ( 2.0 atm,3.0 L,95 K ) voLFkk ls (4.0 atm , 

5.0 L,245 K ) rd vkarfjd ÅtkZ esa U 30.0 L =

ifjorZu gksrk gS] rks ,UFkSYih ifjorZu gS\ 

 (1) 40.0 L atm (2) 58.0 L atm 

 (3) 44.0 L atm (4) 'kwU; 

 

70. fuEufyf[kr ekuksa ls C H− ca/k ÅtkZ dh x.kuk 

dhft,% 

 

 

f

f

f 4

H [C( g)] 716.68 kJ / mole

H [H( g)] 217.97 kJ / mole

H CH ( g) 74.81 kJ / mole

 =

 =

 = −

 

 (1) 1663.37 kJ (2) 415.84 kJ 

 (3) 179.17 kJ (4) 74.81 kJ 

71. 
2 4N O  dk vi?kVu]  DyksjksQ‚eZ esa 280 K ij fd;k 

tkrk gSA tc lkE; LFkkfir gks tkrk gS] rks 0.2 eksy 

2 4N O  vkSj 
32 10  mol−  

2NO  2 yhVj foy;u esa 

ekStwn gSa] rks vfHkfØ;k 
2 4 2N O 2NO  ds fy, lkE; 

fLFkjkad   gS 

 (1) 
21 10−  (2) 

32 10−  

 (3) 
51 10−  (4) 

52 10−  

72. czksehu ds vkdyu dh dSfj;l fof/k esa] dkcZfud ;kSfxd 

ds 0.5  xzke us 0.376 xzke AgBr fn;k gS] rks dkcZfud 

;kSfxd esa mifLFkr czksehu dk çfr'kr D;k gksxk&  

( Ag 108u=  vkSj Br 80u= ½ 

  

 (1) 40% (2) 32% 

 (3) 24% (4) 48% 

73. fuEufyf[kr vfHkfØ;k vuqØe ij fopkj dhft,& 

 2SOCl KCN

3 2 2CH CH CH OH  A  B⎯⎯⎯→ ⎯⎯⎯→  

 
2

DIBAL H

(ii)H O
C (major)−⎯⎯⎯⎯→ ] rks mRikn C gS 

 (1) Carboxylic acid  

 (2) Amide 

 (3) Amine  

 (4) Aldehyde 
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74.  The compound which does not reduce Tollens' 

reagent is 

 (1) Glucose (2) Fructose 

 (3) Lactose (4) Sucrose 

75. Consider the following reaction sequence. 

 

NO2

2 2 2

2 5 2

H Pd Br NaNO /HCl

C H OH H O 0 5 C
 A  B C−

⎯⎯⎯⎯→ ⎯⎯⎯→ ⎯⎯⎯⎯⎯→  

 3 2CH CH OH
D⎯⎯⎯⎯→  . The final product D is: 

 (1) 

OC H2 5

Br

 (2) 

Br

BrBr

 

 (3) 

Br

Br

 (4) 

Br

 

76. The most acidic compound among the following is  

 (1) 

COOH

 (2) 

COOH

NO2

 

 (3) 

COOH

NO2

 (4) 

COOH

CH3

 

77. Metal carbon bond is strongest in  

 (1)  6Cr(CO)   (2)  6Mn(CO)
+
  

 (3)  4Ni(CO)   (4)  4Co(Co)
−

 

78.  If solubility of 
2Cu(OH) in water is 

5 11.95 10 gL− −  

then the value of its solubility product ( )sp K will 

be (Atomic mass of Cu 63.5u= ) 

 (1) 
22 3 31.6 10  mol  L− −  

 (2) 
20 3 33.2 10  mol  L− −   

 (3) 
21 3 36.4 10  mol  L− −  

 (4) 
18 3 32.5 10  mol  L− −  

74. og ;kSfxd tks Vksysal ds vfHkdeZd dks vip;u ugha 

djrk gS] og gS 

 (1) Xywdkst (2) ÝqDVkst 

 (3) ySDVkst (4) lqØkst 

75. fuEufyf[kr vfHkfØ;k vuqØe ij fopkj dhft,& 

 

NO2

2 2 2

2 5 2

H Pd Br NaNO /HCl

C H OH H O 0 5 C
 A  B C−

⎯⎯⎯⎯→ ⎯⎯⎯→ ⎯⎯⎯⎯⎯→  

 3 2CH CH OH
D⎯⎯⎯⎯→  . vfUre mRikn D gS: 

 (1) 

OC H2 5

Br

 (2) 

Br

BrBr

 

 (3) 

Br

Br

 (4) 

Br

 

76. fuEufyf[kr esa ls lcls vEyh; ;kSfxd gS  

 (1) 

COOH

 (2) 

COOH

NO2

 

 (3) 

COOH

NO2

 (4) 

COOH

CH3

 

77. lcls izcy /kkrq&dkcZu ca/k fdlesa gS  

 (1)  6Cr(CO)   (2)  6Mn(CO)
+
  

 (3)  4Ni(CO)   (4)  4Co(Co)
−

 

78. ;fn 
2Cu(OH)  dh foys;rk ty esa 

5 11.95 10 gL− −  gS] 

rks fQj bldk foys;rk xq.kuQy ( )sp K  dk eku gksxk 

¼ijek.kq æO;eku Cu 63.5u= ½ 

 (1) 
22 3 31.6 10  mol  L− −  

 (2) 
20 3 33.2 10  mol  L− −   

 (3) 
21 3 36.4 10  mol  L− −  

 (4) 
18 3 32.5 10  mol  L− −  
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79. If 10 ml of 
30.4MCH COOH solution is mixed 

with 40 ml of 0.1 MNaOH solution then the pH of 

the resultant solution becomes (Given: 
apK of 

3CH COOH 4.75= ) 

 (1) 9.5 (2) 8.8 

 (3) 7.8 (4) 10.8 

80.  If rate constant of a reaction is 3 11.155 10  s− −  then 

the half life period for the reaction will be 

 (1) 20 min (2) 15 min 

 (3) 5 min (4) 10 min 

81. Consider the following reaction sequence  

 

O NH2

34

2

CHCl /KOH (i) LiAlH

 (ii) H O
 A  B


⎯⎯⎯⎯→ ⎯⎯⎯⎯⎯→ . Product 

B is  

 (1) 

NC

 (2) 

CN

 

 (3) 

O Cl

 (4) 

OH

 

82. The values of H and S  for the reaction, 

(graphite ) 2( g) (g)C CO 2CO→+ are 170 kJ and 170 

1JK −
, respectively. This reaction will be 

spontaneous at 

 (1) 910 K (2) 1110 K 

 (3) 510 K (4) 710 K 

83.  For the following three reactions (i), (ii) and (iii) 

equilibrium constants are given 

 (i)  (g) 2 (g) 2( g) 2( g) 1CO H O CO H ;K+ +  

 (ii)  4( g) 2 (g) (g) 2( g) 2CH H O CO 3H ;K+ +  

 (iii) 4( g) 2 (g) 2( g) 2( g) 3CH 2H O CO 4H ;K+ +  

 Which of the following relation is correct? 

 (1) 
3 2

3 2 1K · K K=  (2) 1 2 3K K K=  

 (3) 
2 3 1K  K K=  (4) 

3 1 2K K  K=  

 

84. I and II are respectively  

79. ;fn 
30.4MCH COOHds 10 ml  foy;u dks 0.1 

MNaOH foy;u ds 40 ml ds lkFk feyk;k tkrk gS] 

rks ifj.kkeh foy;u dk pH eku D;k gksxk\ 

dk 
apK eku =4.75½ 

 (1) 9.5 (2) 8.8 

 (3) 7.8 (4) 10.8 

80. ;fn fdlh vfHkfØ;k dk nj fLFkjkad 
3 11.155 10  s− −  

gS] rks vfHkfØ;k ds fy, v)Z vk;q gksxh& 

 (1) 20 min (2) 15 min 

 (3) 5 min (4) 10 min 

81. fuEufyf[kr vfHkfØ;k vuqØe ij fopkj dhft,& 

 

O NH2

34

2

CHCl /KOH (i) LiAlH

 (ii) H O
 A  B


⎯⎯⎯⎯→ ⎯⎯⎯⎯⎯→ -rks] mRikn 

B gS  

 (1) 

NC

 (2) 

CN

 

 (3) 

O Cl

 (4) 

OH

 

82. vfHkfØ;k (graphite ) 2( g) (g)C CO 2CO→+  ds fy, H  

vkSj S Øe”k% 170 kJ vkSj 170 1JK − ,  gSa] rks ;g 

vfHkfØ;k Lor% izofrZr gksxh& 

 (1) 910 K ij (2) 1110 K ij 

 (3) 510 K ij (4) 710 K ij 

83. fuEufyf[kr rhu vfHkfØ;kvksa (i), (ii) vkSj (iii) ds fy, 

lkE; fLFkjkad fn, x, gSa& 

 (i)  (g) 2 (g) 2( g) 2( g) 1CO H O CO H ;K+ +  

 (ii)  4( g) 2 (g) (g) 2( g) 2CH H O CO 3H ;K+ +  

 (iii) 4( g) 2 (g) 2( g) 2( g) 3CH 2H O CO 4H ;K+ +  

 rks] fuEufyf[kr esa ls dkSu lk laca/k lgh gS\ 

 (1) 
3 2

3 2 1K · K K=  (2) 1 2 3K K K=  

 (3) 
2 3 1K  K K=  (4) 

3 1 2K K  K=  

 

 

3(CH COOH
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 (1) ( ) ( )4 2 2 7 2 4OsO , K Cr O ,H SO  

 (2) ( ) ( )3 2 2BH ,THF,OH , PCC,CH Cl−  

 (3) ( ) ( )3 4BH ,THF,OH , redP ,HI−
 

 (4) ( ) ( )2 2 2H O,H , PCC,CH Cl+
 

85. Assertion: 
2NH OH  gives Prussian blue colour in 

Lassaigne's test for detection of Nitrogen. 

 Reason: 
2NH OH  gives nucleophilic addition 

reaction with aldehyde and ketones. 

 (1) Both A and R are correct and R is the correct 

explanation of A . 

 (2) Both A and R are correct and R is not correct 

explanation of A . 

 (3) A is correct and R is incorrect. 

 (4) A is incorrect and R is correct. 

86.  When 
2Cl  gas reacts with hot and concentrated 

sodium hydroxide solution, the oxidation number 

of chlorine changes from 

 (1) zero to +1 and zero to -5 

 (2) zero to -1 and zero to +5 

 (3) zero to -1 and zero to +3 

 (4) zero to +1 and zero to -3 

87. Among the following ethers with one will produce 

methyl alcohol on treatment with hot concentrated 

HI? 

 (1) CH3–CH2–CH2–CH2–O–CH3 

 (2) CH3–CH2–CH2–O–CH3 

 (3) 

3

3 3

3

CH
|

CH C O CH
|
CH

− − −
  

 (4) 
3 2 3

3

CH C CH O CH
|
CH

− − − −
 

84. I vkSj II Øe'k% gSa  

   

  (1) ( ) ( )4 2 2 7 2 4OsO , K Cr O ,H SO  

 (2) ( ) ( )3 2 2BH ,THF,OH , PCC,CH Cl−
 

 (3) ( ) ( )3 4BH ,THF,OH , redP ,HI−
 

 (4) ( ) ( )2 2 2H O,H , PCC,CH Cl+
 

85. dFku%&ukbVªkstu dk irk yxkus ds fy, yklSXus ds 

ijh{k.k esa 
2NH OHçf'k;u uhyk jax nsrk gSA 

 dkj.k%&  ,fYMgkbM vkSj fdVksu ds lkFk 
2NH OH  

U;wfDy;ksfQfyd ;qXeu vfHkfØ;k nsrk gSA 

 (1) A vkSj R nksuksa lgh gSa vkSj R, A dk lgh 

Li"Vhdj.k gSA 

 (2) A vkSj R nksuksa lgh gSa vkSj R, A dk lgh 

Li"Vhdj.k ugha gSA 

 (3) A lgh gS vkSj R xyr gSA 

 (4) A xyr gS vkSj R lgh gSA 

86.  tc 
2Cl xSl] xeZ vkSj lkfUnzr lksfM;e gkbMª‚DlkbM 

foy;u ds lkFk vfHkfØ;k djrh gS] rks Dyksjhu dh 

v‚Dlhdj.k la[;k esa ifjroZu gksrk gSA 

 (1) 'kwU; ls +1 vkSj 'kwU; ls -5 

 (2) 'kwU; ls -1 vkSj 'kwU; ls -5 

 (3) 'kwU; ls -1 vkSj 'kwU; ls +3 

 (4) 'kwU; ls +1 vkSj 'kwU; ls -3 

87. fuEufyf[kr esa ls dkSulk ,d bZFkj xeZ lkfUnzr HI ds 

lkFk fØ;k ij feFkkby ,Ydksgy nsrk gS\ 

 (1) CH3–CH2–CH2–CH2–O–CH3 

 (2) CH3–CH2–CH2–O–CH3 

 (3) 

3

3 3

3

CH
|

CH C O CH
|
CH

− − −
  

 (4) 
3 2 3

3

CH C CH O CH
|
CH

− − − −
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88. H2COH–CH2OH on heating with Periodic acid 

gives  

 (1) 2CO2 (2) 2HCOOH 

 (3) 
CHO
|
CHO

 (4) C=O

H

H
2  

89. Among the following  

 (I)  

Br

CH3

 (II) 

Br

 

 (III) PhCH2Br (IV) H2C=CH–Br 

 (V) PhC(CH3)2Br 

 Which of the following choices consists of those 

bromides which can readily give ppt. of AgBr with 

warm alc. AgNO2 

 (1) I and III (2) III and IV 

 (3) II and V (4) II, III and V 

90. Which statement is true for the below reaction? 

  
 (1) Retention of configuration  

 (2) Inversion of configuration  

 (3) Inversion and Retention both  

 (4) None of these  

 

88. H2COH–CH2OH vkofrZd vEy ds lkFk xeZ djus ij 

nsrk gS  

 (1) 2CO2 (2) 2HCOOH 

 (3) 
CHO
|
CHO

 (4) C=O

H

H
2  

89. fuEufyf[kr esa ls  

 (I)  

Br

CH3

 (II) 

Br

 

 (III) PhCH2Br (IV) H2C=CH–Br 

 (V) PhC(CH3)2Br 

 fuEufyf[kr fodYiksa esa ls fdl fodYi esa os czksekbM 

'kkfey gSa tks vklkuh ls xeZ alc. AgNO2 ds lkFk 

AgBr dk ppt. ns ldrs gSaA 

 (1) I vkSj III (2) III vkSj IV 

 (3) II vkSj V (4) II, III vkSj V 

90. fuEu vfHkfØ;k ds fy, dkSu lk dFku lR; gS\ 

   

 (1) foU;kl dk izfr/kkj.k  

 (2) foU;kl dk izfrykseu 

 (3) izfrykseu vkSj çfr/kkj.k nksuksa  

 (4) buesa ls dksbZ ugha  
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PART – III : BOTANY 
91. Consider the following statements with respect to 

angiosperms 

 (i) The male sex organ in a flower is the stamen. 

 (ii) The anthers following mitosis produce pollen 

grains. 

 (iii) In an embryo sac, the primary endosperm 

nucleus (PEN) is diploid. 

 (iv) After double fertilization the ovules develop 

into seeds and ovary develop into fruit. 

 Choose the correct answer from the option given 

below: 

 (1) (iii) and (iv) are correct 

 (2) (i) and (ii) are correct 

 (3) (i) and (iii) are correct 

 (4) (i) and (iv) are correct 

92. FAD is electron acceptor in the citric acid cycle 

during the oxidation of 

 (1) Malic acid to oxaloacetic acid 

 (2) Succinic acid to fumaric acid 

 (3) Citric acid to alpha ketoglutaric acid 

 (4) Alpha-ketoglutaric acid to succinic acid 

93. DNA replicates semi conservatively was first 

shown in 

 (1) Vicia faba 

 (2) E. coli 

 (3) Streptococcus pneumoniae 

 (4) Drosophila 

94. The precursor of eukaryotic mRNA is 

 (1) hnRNA  

 (2) tRNA 

 (3) rRNA  

 (4) snRNA 

95. Which of the following is not matched correctly? 

 

 (1) Anabaena – Cyanobacteria 

 (2) Amoeba - Protozoa 

 (3) Gonyaulax – Dinoflagellates 

 (4) Albugo - Chrysophytes 

 

91. vko`rchth ds laca/k esa fuEufyf[kr dFkuksa ij fopkj 

djsa 

 (i) ,d iq"i esa uj tuu vax iqadslj gSA 

 (ii) lelw=h foHkktu ds ckn ijkxdks"k ijkx d.kksa dk 

mRiknu djrs gSaA 

 (iii) ,d Hkzw.kdks"k esa çkFkfed Hkzw.kiks"k dsUnzd (PEN) 

f}xqf.kr gksrk gSA 

 (iv) nksgjs fu"kspu ds ckn chtkaM cht esa fodflr gksrs 

gSa vkSj vaMk'k; Qy esa fodflr gksrs gSaA 

 uhps fn, x, fodYi esa ls lgh mÙkj dk p;u dhft,% 

 (1) (iii) vkSj (iv) lgh gSa 

 (2) (i) vkSj (ii) lgh gSa 

 (3) (i) vkSj (iii) lgh gSa 

 (4) (i) vkSj (iv) lgh gSa 

92. fdlds v‚Dlhdj.k ds nkSjku lkbfVªd ,flM pØ esa 

FAD bysDVª‚u xzkgh gS 

 (1) eSfyd ,flM ls v‚Dtsyks,flfVd ,flM 

 (2) lfDlfud ,flM ls ¶;wesfjd ,flM 

 (3) lkbfVªd ,flM ls ,YQk fdVksXywVkfjd ,flM 

 (4) ,YQk&fdVksXywVkfjd ,flM ls lfDlfud ,flM 

93. DNA dh v/kZ laj{kh çfr—fr dks igyh ckj fdlesa 

ns[kk x;k Fkk 

 (1) fofl;k QSck 

 (2) bZ- dksykbZ 

 (3) LVªsIVksdksdl U;weksfu;kb 

 (4) MªkslksfQyk 

94. ;wdsfj;ksfVd mRNA dk vxzxkeh D;k gS\ 

 (1) hnRNA  

 (2) tRNA 

 (3) rRNA  

 (4) snRNA 

95. fuEufyf[kr esa ls fdldk feyku lgh ugha fd;k x;k 

gS\ 

 (1) ,ukchuk & lk;ukscSDVhfj;k 

 (2) vehck & çksVkstksvk 

 (3) xksU;ksySDl & Mkbuks¶ySftysV~l 

 (4) ,YC;qxks & ØkblksQkbV~l 
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96. In gymnosperms, the pollen chamber represents 

 (1) A cell in the pollen grain in which the sperms 

are formed 

 (2) A cavity in the ovule in which pollen grains are 

stored after pollination 

 (3) An opening in the mega gametophyte through 

which the pollen tube approaches the egg 

 (4) The microsporangium in which pollen grains 

develop 

97. Which of the following option is correct? 

 A. Mycoplasma has no cell wall. 

 B. Mycoplasma is the smallest living organism. 

 C. Mycoplasma cannot survive without O2. 

 D. Mycoplasma are pathogenic in animals and 

plants. 

 E. True sexuality is not found in bacteria. 

 F. A sort of sexual reproduction occurs in 

bacterium by adopting a primitive DNA 

transfer from one bacterium to the other. 

 (1) All (2) Only C 

 (3) A, B, D, E, F (4) A, C, F 

98. Fill in the blanks and select the correct option w.r.t. 

Meiosis. 

 I. The beginning of A is recognized by the B of 

the synaptonemal complex. 

 II. Crossing over between homologous 

chromosomes is completed by the end of C 

 III. D begins with simultaneous splitting of the 

centromere of each chromosome. 

 (1) A-Diplotene B-Formation C-Pachytene D-

Anaphase-I 

 (2) A-Diplotene B-Dissolution C-Pachytene D-

Anaphase-II 

 (3) A-Diplotene B-Dissolution C-Diakinesis D-

Anaphase-I 

 (4) A-Pachytene B-Dissolution C-Diplotene D-

Diakinesis 

 

 

96. vuko`rchth esa] ijkx d{k fdldk çfrfuf/kRo djrk gS 

 (1) ijkxd.k esa ,d dksf'kdk ftlesa 'kqØk.kq curs gSa 

  

 (2) chtkaM esa ,d xqghdk ftlesa ijkx.k ds ckn ijkx 

d.k tek gksrs gSa 

 (3) eknk ;qXedksn~fHkn dk ,d [kqyk Hkkx ftlds ek/;e 

ls ijkx ufydk vaMs rd igqaprh gS 

 (4) y?kqchtk.kq/kkuh ftlesa ijkx d.k fodflr gksrs gSa 

97. fuEufyf[kr esa ls dkSu lk fodYi lgh gS\ 

 A. ekbdksIykTek esa dksbZ dksf'kdk fHkfÙk ugha gksrh gSA 

 B. ekbdksIykTek lcls NksVk thfor tho gSA 

 C. ekbdksIykTek O2 ds fcuk thfor ugha jg ldrk 

gSA 

 D. ekbdksIykTek tUrqvksa vkSj ikniksa esa jksxtud gSaA 

 E. cSDVhfj;k esa lR; ySafxdrk ugha ikbZ tkrh gSA 

 F. ,d thok.kq ls nwljs thok.kq esa ,d vkfne DNA 

LFkkukarj.k dks viukus ls thok.kq esa ,d çdkj dk 

ySafxd çtuu gksrk gSA 

 (1) mijksDr lHkh (2) dsoy C 

 (3) A, B, D, E, F (4) A, C, F 

98. fjä LFkkuksa dh iwfrZ dhft, vkSj v/kZlw=h foHkktu ds 

laca/k esa lgh fodYi pqfu,A 

 I. A dh 'kq#vkr fluSIVksusey d‚EIysDl ds B }kjk 

igpkuh tkrh gSA 

 II. letkr xq.klw=ksa ds chp thu fofue; C ds var 

rd iwjk gks tkrk gS 

 III. D çR;sd xq.klw= ds lsaVªksfe;j ds ,d lkFk foHkktu 

ds lkFk 'kq: gksrk gSA 

 (1) A-fMIyksfVu B-fuekZ.k C-isdkbfVu D-,ukQst-I 

 (2) A-fMIyksfVu B-fo?kVu C-isdkbfVu D-,ukQst-II 

 (3) A-fMIyksfVu B-fo?kVu C-Mk;kdkbusfll D-

,ukQst-I 

 (4) A-isdkbfVu B-fo?kVu C-fMIyksfVu D-

Mk;kdkbusfll 
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99. Find the incorrect match w.r.t. protein synthesis. 

 (1) mRNA – Codons 

 (2) rRNA – Catalytic role during translation 

 (3) UTR – Only at 3' end 

 (4) tRNA – Transfers amino acids 

100. The maximum possible number of individuals that 

a habitat can support is called its 

 (1) Fecundity 

 (2) Surviving ability 

 (3) Carrying capacity 

 (4) Biotic potential 

101. Which stage of cell division do the following 

figures represent respectively? 

 
 (1) Anaphase-I (2) Anaphase-II 

 (3) Both 2 and 4 (4) Anaphase 

102. Which one of the following feature/event in 

pteridophytes is a precursor to the seed habit that 

considered an important step in evolution? 

 (1) Steler system 

 (2) Oogamous reproduction 

 (3) Development of cone 

 (4) Heterospory 

103. Type of venation in potato and banana is 

respectively 

 (1) Reticulate and furcate 

 (2) Reticulate and parallel 

 (3) Parallel and reticulate 

 (4) Furcate and parallel 

 

 

 

99. çksVhu la'ys"k.k ds laca/k esa xyr dk irk yxk,aA 

 (1) mRNA & dksMksu 

 (2) rRNA & vuqoknu ds nkSjku mRçsjd Hkwfedk 

 (3) UTR & dsoy 3^ fdukjs ij 

 (4) tRNA & vehuks ,flM LFkkukarfjr djrk gS 

100. fdlh vkokl es jgus okys O;fDr;ksa dh vf/kdre 

laHkkfor la[;k dks mldk vkokl dgk tkrk gSa 

 (1) iztuu {kerk 

 (2) thfor jgus dh {kerk 

 (3) ogu {kerk 

 (4) tSfod {kerk 

101. fuEufyf[kr fp= Øe'k% dksf'kdk foHkktu dh fdl 

voLFkk dks n'kkZrs gSa\ 

 

 (1) ,ukQst-I (2) ,ukQst-II 

 (3) 2 vkSj 4 nksuksa (4) ,ukQst 

102. VsfjMksQkbV~l esa fuEufyf[kr esa ls dkSu lh ?kVuk cht 

LOkHkko dk vxzxkeh gS ftls mn~fodkl esa ,d egRoiw.kZ 

dne ekuk tkrk gS\ 

 (1) LVsyj ra= 

 (2) v.M;wXedh tuu 

 (3) 'kadq dk fodkl 

 (4) fo"kechtk.kqdrk 

103. vkyw vkSj dsys esa f'kjkfoU;kl dk çdkj Øe'k% D;k gS\ 

 (1) tkyhnkj vkSj QqdsZV 

 (2) tkyhnkj vkSj lekukarj 

 (3) lekukarj vkSj tkyhnkj 

 (4) QqdsZV vkSj lekukarj 
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104. A. The vascular bundles are absent in veins. 

 B. The veins vary in thickness in the reticulate 

venation of the dicot leaves. 

 C. Spongy parenchyma is located on adaxial 

surface of monocot leaf. 

 Which of the above statement(s) is/are correct? 

 (1) A & C are correct 

 (2) B & C are incorrect 

 (3) Only C is incorrect 

 (4) Only B is correct 

105. Which of the following statements regarding cyclic 

flow of electrons during light reactions is false? 

 (1) This process takes place in the stromal lamella 

 (2) ATP synthesis takes place 

 (3) NADPH + H+ is synthesized 

 (4) Takes place only when light of wavelength 

beyond 680 nm is available for excitation 

 

106. In this diagram bundle sheath cell is made up of 

 
 (1) Parenchyma cell 

 (2) Collenchyma cell 

 (3) Sclerenchyma cell 

 (4) Chlorenchyma cell. 

107. In dicotyledonous roots, the initiation of lateral 

roots takes place in 

 (1) Endodermal cells 

 (2) Cortical cells 

 (3) Epidermal cells 

 (4) Pericycle cells 

 

 

 

104. A. f'kjkvksa esa laoguh caMy vuqifLFkr gSaA 

 B. f}chti=h ifÙk;ksa ds tkyhnkj f'kjkfoU;kl esa 

f'kjkvksa dh eksVkbZ fHkUu gksrh gSA 

 C. Liath iSjsUdkbek ,dchti=h iÙkh dh vH;{k lrg 

ij fLFkr gSA 

 mijksä dFkuksa esa ls dkSuls lgh gSa\ 

 (1) A vkSj C lgh gSa 

 (2) B vkSj C xyr gSa 

 (3) dsoy C xyr gS 

 (4) dsoy B lgh gS 

105. çdk'k çfrfØ;kvksa ds nkSjku bysDVª‚uksa ds pØh; çokg 

ds ckjs esa fuEufyf[kr esa ls dkSu lk dFku xyr gS\ 

 (1) ;g çfØ;k LVªksek ySfeyh esa gksrh gS 

 (2) ATP la'ys"k.k gksrk gS 

 (3) NADPH + H+ la'ysf"kr gksrk gS 

 (4) ;g dsoy rHkh gksrk gS tc 680 nm ls vf/kd 

rjaxnS?kZ~; dk çdk'k míhiu ds fy, miyC/k gksrk 

gS 

106. bl fp= esa iqykPNn dksf'kdk fdlls cuh gSa\ 

 

 (1) iSjsUdkbek dksf'kdk 

 (2) dksysudkbek dksf'kdk 

 (3) LDysjsUdkbek dksf'kdk 

 (4) Dyksjsadkbek dksf'kdk 

107. f}chti=h ewy esa ik'kZ~o ewy dk izkjaHk fdlls gksrk gSa 

 (1) ,aMksMeZy dksf'kdk,a 

 (2) oYdwV dksf'kdk,a 

 (3) ,fiMeZy dksf'kdk,a 

 (4) ifjjaHk dksf'kdk,a 
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108. Select the correct matched ones. 

 (1) Amyloplasts - store proteins 

 (2) Mitochondrion - ‘powerhouse’ of the cell 

 (3) Stroma - chlorophyll pigment 

 (4) Axoneme - 9 + 2 array 

 (1) (1) and (3) only 

 (2) (2), (3) and (4) only 

 (3) (3) and (4) only 

 (4) (2) and (4) only 

109. Technique used to transfer ssDNA from gel to 

nitrocellulose membrane is called as 

 (1) Northern blotting 

 (2) Western blotting 

 (3) Southern blotting 

 (4) Gel electrophoresis 

110. Choose odd w.r.t. collenchyma. 

 (1) Found in hypodermis of dicot stem 

 (2) Living mechanical tissue 

 (3) Absent in monocots 

 (4) Thickening of wall is due to deposition of 

cellulose and lignin 

111. One hormone hastens the maturity period in 

juvenile conifers, a second hormone controls xylem 

differentiation while the third increases the 

tolerance of plants to various stresses and they are 

respectively 

 (1) Auxin, Gibberellin and Cytokinin 

 (2) Gibberellin, Auxin and Cytokinin 

 (3) Gibberellin, Auxin and Ethylene 

 (4) Gibberellin, Auxin and ABA 

 

 

 

 

 

 

108. lgh lqesfyr dk p;u djsaA 

 (1) ,ekbyksIykLV & çksVhu laxzg.k 

 (2) ekbVksd‚fUMª;k & dksf'kdk dk ^ÅtkZ x`g^ 

 (3) LVªksek & DyksjksfQy o.kZd 

 (4) ,Dlksuhe & 9 + 2 O;OkLFkk 

 (1) dsoy (1) vkSj (3) 

 (2) dsoy (2), (3) vkSj (4) 

 (3) dsoy (3) vkSj (4) 

 (4) dsoy (2) vkSj (4) 

109. ssDNA dks tSy ls ukbVªkslsY;wykst f>Yyh esa 

LFkkukarfjr djus ds fy, mi;ksx dh tkus okyh rduhd 

dks D;k dgk tkrk gS\ 

 (1) ukWFkZu CykWfVax 

 (2) osLVuZ Cy‚fVax 

 (3) lkmFkZu CykWfVax 

 (4) tSy oS|qrd.klapyu 

110. dksysUdkbek ds laca/k es fo"ke dks pqusa\ 

 (1) f}chti=h rus ds gkbiksMfeZl esa ik;k tkrk gS 

 (2) thfor ;kaf=d Ård 

 (3) ,dchti=h esa vuqifLFkr 

 (4) lsY;wykst vkSj fyfXuu ds teko ds dkj.k fHkfRr 

dk eksVk gksuk 

111. ,d gkeksZu fd'kksj dksfuQj esa ifjiDork vof/k dks rst 

djrk gS] nwljk gkeksZu tkbye foHksnu dks fu;af=r 

djrk gS tcfd rhljk ikS/kksa dh fofHkUu rukoksa ds çfr 

lgu'khyrk dks c<+krk gS rks os Øe'k% gksrs gSa 

 (1) v‚fDlu] ftcjsfyu vkSj lkbVksdkbfuu 

 (2) ftcjsfyu] v‚fDlu vkSj lkbVksdkbfuu 

 (3) ftcjsfyu] v‚fDlu vkSj bFkkbyhu 

 (4) ftcjsfyu] v‚fDlu vkSj ABA 
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112. Match Column I with Column II and select the 

correct option 

  Column I  Column II 

 A. Ascomycetes I. Ustilago 

 B. Phycomycetes II. Saccharomyces 

 C. Basidiomycetes III. Trichoderma 

 D. Deuteromycetes IV. Albugo 

 (1) A–II; B–I; C–IV; D–III 

 (2) A–IV; B–III; C–II; D–I 

 (3) A–II; B–IV; C–I; D–III 

 (4) A–III; B–IV; C–I; D–II 

113. Which of the following are heterosporous 

pteridophytes? 

 I. Lycopodium II. Selaginella 

 III. Equisetum IV. Salvinia 

 (1) I and II only   

 (2) II and III only 

 (3) II and IV only  

 (4) II only 

114. If an inheritable mutation is observed in a 

population at high frequency, it is referred as 

 (1) DNA polymorphism 

 (2) Expressed sequence tag 

 (3) Sequence annotation 

 (4) Linkage 

115. Find the wrongly matched pair 

 (1) Endemism - species confined to one region and 

not found anywhere else 

 (2) In situ conservation - IVF 

 (3) Alien species to India - Clarias gariepinus 

 (4) Lungs of the planet - Amazon Rain Forest 

 

 

 

112. LraHk I dks LraHk II ls lqesfyr dhft, vkSj lgh fodYi 

dk p;u dhft, 

  d‚ye I   d‚ye II 

 A. ,LdksekbflVht  I. vfLVysxks 

 B. QkbdksekbflVht  II. lSØksekbflt 

 C. csflfMvksekbflVht III.VªkbdksMekZ 

 D. MîwVsjksekbflVht  IV. ,YC;qxks 

 (1) A–II; B–I; C–IV; D–III 

 (2) A–IV; B–III; C–II; D–I 

 (3) A–II; B–IV; C–I; D–III 

 (4) A–III; B–IV; C–I; D–II 

113. fuEufyf[kr esa ls dkSu fo"kechtk.kq VsfjMksQkbV~l gSa\ 

 I. ykbdksiksfM;e II. lhysftusyk 

 III. bfDolsVe IV. lkfYofu;k 

 (1) dsoy I vkSj II   

 (2) dsoy II vkSj III 

 (3) dsoy II vkSj IV  

 (4) dsoy II 

114. ;fn mPp vko`fÙk ij tula[;k esa ,d oa'kkuqxr 

mRifjorZu ns[kk tkrk gS] rks bls D;k dgk tkrk gS\ 

 (1) DNA cgq:irk 

 (2) O;ä vuqØe VSx 

 (3) vuqØe ,uksVs'ku 

 (4) fyadst 

115. xyr feyku okyh tksM+h dk irk yxk,a 

 (1) ,aMsfeTe & tkfr;ka ,d {ks= rd lhfer gSa 

vkSj dgha vkSj ugha ikbZ tkrh gSa 

 (2) var%LFkkus laj{k.k & IVF 

 (3) Hkkjr esa fons'kh çtkfr;ka & Dysfj;l xSfjikbul 

 (4) xzg dk QsQM+k & vestkWu o"kkZ ou 
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116. Match Column I with Column II and choose the 

correct option. 

  Column I  Column II 

 A. Breeding crops  I. Totipotency 

  with higher 

  levels of 

  nutrients 

 B. Plant grown  II. Micropropagation 

  from hybrid 

  protoplast 

 C. Producing a  III. Somaclone 

  large number 

  of plants through 

  tissue culture 

 D. Capacity to  IV. Somatic hybrid 

  generate a whole 

  plant From an 

  explant 

 E. Plants genetically V. Biofortification 

  identical to the 

  original plant 

 (1) A – V; B – IV; C – II; D – I; E–III 

 (2) A – I; B – III; C – V; D – IV; E–II 

 (3) A – V; B – II; C – I; D – IV; E–III 

 (4) A – III; B – I; C – V; D – IV; E–II 

117. Choose the wrong statement 

 (1) In grasshopper, besides autosomes males have 

only one X-chromosome, whereas females 

have a pair of X-chromosomes 

 (2) In XY type of sex determination, both males 

and females have same number of X - 

chromosomes 

 (3) In Drosophila, males have one X and one Y 

chromosome, whereas females have a pair of X 

- chromosome besides autosomes 

 (4) In birds, females have one Z and one W 

chromosomes, whereas males have a pair of Z 

chromosomes besides autosomes 

116. LraHk I dks LraHk II ls lqesfyr dhft, vkSj lgh fodYi 

dk p;u dhft,A 

  d‚ye I  d‚ye II 

 A. çtuu Qlysa  I. iw.kZ'kDrrk 

  mPp Lrj ij 

  iks"kd rRo 

  ds lkFk 

 B. ladj izksVksIykLV II. lq{etSo izo/kZu 

  ls mxk,s x,  

  ikni 

 C. Ård lao/kZu ls III. lksekDyksu 

  cM+h la[;k esa 

  ikni dk mRiknu 

 D. drksZrd ls  IV. dkf;d ladj 

  ,d laiw.kZ ikni 

  mRiUUk djus 

  dh {kerk 

 E. ikni vkuqoaf'kd V. ck;ksQksfVZfQds'ku 

  :Ik ls ewy  

  ikni ds leku   

 (1) A – V; B – IV; C – II; D – I; E–III 

 (2) A – I; B – III; C – V; D – IV; E–II 

 (3) A – V; B – II; C – I; D – IV; E–III 

 (4) A – III; B – I; C – V; D – IV; E–II 

117. xyr dFku dk p;u dhft, 

 (1) fVìs esa] v‚Vkslkse ds vykok uj esa dsoy ,d 

X&xq.klw= gksrk gS] tcfd eknk esa X&xq.klw=ksa dh 

,d tksM+h gksrh gS 

 (2) XY çdkj ds fyax fu/kkZj.k esa] uj vkSj eknk nksuksa 

esa X& xq.klw=ksa dh la[;k leku gksrh gS 

 (3) MªkslksfQyk esa] uj esa ,d X vkSj ,d Y xq.klw= 

gksrk gS] tcfd eknk esa v‚Vkslkse ds vykok X& 

xq.klw= dh ,d tksM+h gksrh gS 

 (4) if{k;ksa esa] eknkvksa esa ,d Z vkSj ,d W xq.klw= 

gksrs gSa] tcfd uj esa v‚Vkslkse ds vykok Z xq.klw=ksa 

dh ,d tksM+h gksrh gS 
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118. Number of chromosomes in an angiospermic plant 

is 14, then the number of chromosomes in synergid 

cells will be 

 (1) 14 (2) 7 

 (3) 28 (4) 21 

119. Match the items in column I with those in column 

II and chose the correct answer. 

  Column I  Column II 

 A. Small opening  I. Funicle 

  of ovule 

 B. Stalk of ovule II. Integuments 

 C. Protective  III. Chalaza 

  envelopes of 

  ovule 

 D. Junction part of IV. Hilum 

  ovule and stalk 

 E. Basal part of  V. Micropyle 

  the ovule 

 (1) A – V; B – I; C – II; D – IV; E–III 

 (2) A – I; B – III; C – II; D – IV; E–V 

 (3) A – III; B – I; C – II; D – IV; E–V 

 (4) A – IV; B – I; C – V; D – II; E–III 

120. Read the statements regarding a stable community 

and choose the correct option 

 (i) Must be resistant to occasional disturbances 

  

 (ii) Should show much variation in productivity 

from year to year 

 (iii) Must be resistant to invasions by alien species 

  

 (1) (i) and (ii) are correct 

 (2) (i), (ii) and (iii) are correct 

 (3) (i) only is correct 

 (4) (i) and (iii) are correct 

121. The number of cells in mature female and male 

gametophyte in angiosperms is ______ and ______ 

respectively. 

 (1) 8, 1 (2) 7, 4 

 (3) 7, 3 (4) 8, 2 

118. ,d vko`rchth ikni esa xq.klw=ksa dh la[;k 14 gS] rks 

fluftZM dksf'kdkvksa esa xq.klw=ksa dh la[;k D;k gksxh\ 

 

 (1) 14 (2) 7 

 (3) 28 (4) 21 

119. d‚ye I dks d‚ye II ds ds lkFk lqesfyr djsa vkSj lgh 

mÙkj pqusaA 

  d‚ye I  d‚ye II 

 A. chtkaM dk I. ¶;qfudy 

  [kqyk Hkkx 

 B. chtkaM dk o`ar II. v/;koj.k 

 C. chtkaM dh  III. pyktk 

  lqj{kkRed ijr 

 D. chtkaM rFkk o`ar IV. gkbye 

  laf/k Hkkx 

 E. chtkaM dk V. ekbØksikby 

  vk/kkfj; Hkkx 

 (1) A – V; B – I; C – II; D – IV; E–III 

 (2) A – I; B – III; C – II; D – IV; E–V 

 (3) A – III; B – I; C – II; D – IV; E–V 

 (4) A – IV; B – I; C – V; D – II; E–III 

120. ,d LFkkbZ leqnk; ds ckjs esa dFkuksa dks if<+, vkSj lgh 

fodYi dk p;u dhft, 

 (i) dHkh dHkkj gksus okyh ?kVuk ds fy, çfrjks/kh gksuk 

pkfg, 

 (ii) lky&nj&lky mRikndrk esa cgqr fHkUurk fn[kkuh 

pkfg, 

 (iii) fons'kh çtkfr;ksa }kjk vkØe.k ds fy, çfrjks/kh gksuk 

pkfg, 

 (1) (i) vkSj (ii) lgh gSa 

 (2) (i), (ii) vkSj (iii) lgh gSa 

 (3) dsoy (i) lgh gS 

 (4) (i) vkSj (iii) lgh gSa 

121. vko`rchth esa ifjiDo eknk vkSj uj ;qXedksn~fHkn esa 

dksf'kdkvksa dh la[;k Øe'k% ______ vkSj ______ gSA 

 (1) 8, 1 (2) 7, 4 

 (3) 7, 3 (4) 8, 2 
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122. Arrange the following terms in the correct 

developmental sequence in flowering plants. 

 A. Sperms 

 B. Heart-shaped embryo 

 C. Syngamy 

 D. Microspore mother cell 

 E. Sporic meiosis 

 F. Globular embryo 

 (1) E, D, A, C, F, B  

 (2) D, E, A, C, F, B 

 (3) D, E, A, C, B, F  

 (4) E, D, A, C, B, F 

123. Choose the odd option w.r.t. sickle cell anaemia. 

 (1) It is a result of transversion 

 (2) Heterozygous (HbA HbS) are carrier of the 

disease 

 (3) It is due to point mutation 

 (4) GTG in the coding strand is replaced by GAG 

 

124. Normal visioned male marries a carrier female for 

colour blindness then 

 (1) All sons will be colour blind, daughters will be 

normal. 

 (2) All daughters are colour blind carriers. 

 (3) Both the sons and daughters will be colour 

blind. 

 (4) A male offspring has 50% chance of active 

disease. 

125. Which one of the following nitrogen bases is not 

found in DNA? 

 (1) Adenine (2) Guanine 

 (3) Uracil (4) Cytosine 

 

 

 

122. iq"ih ikniksa esa fuEufyf[kr inksa dks lgh o`f) vuqØe 

esa O;ofLFkr dhft,A 

 A. 'kqØk.kq 

 B. ân; vkdkj dk Hkzw.k 

 C. lhUxseh 

 D. y?kqchtk.kq ekr` dksf'kdk 

 E. Liksfjd v/kZlw=h foHkktu 

 F. xksykdkj Hkzw.k 

 (1) E, D, A, C, F, B  

 (2) D, E, A, C, F, B 

 (3) D, E, A, C, B, F  

 (4) E, D, A, C, B, F 

123. fldy lsy ,uhfe;k ds laca/k esa fo"ke fodYi pqusaA 

 (1) ;g VªkalotZu dk ifj.kke gS 

 (2) fo"ke;qXeth (HbA HbS) jksx ds okgd gSa 

  

 (3) ;g fcanq mRifjorZu ds dkj.k gS 

 (4) dksfMax LVªSaM esa GTG dks GAG }kjk çfrLFkkfir 

fd;k tkrk gS 

124. lkekU; –f"V okyk uj jax o.kkZU/krk okgd eknk ls 

'kknh djrk gS rks  

 (1) lHkh iq= jax o.kkZU/k gksaxs] iqf=;k lkekU; gksaxhA 

 (2) lHkh iqf=;ka jax o.kkZU/k okgd gSaA 

 (3) iq= vkSj iqf=;ka nksuksa jax o.kkZU/k gksaxsA 

 (4) ,d uj larku esa lfØ; chekjh gksus dh 50% 

laHkkouk gSaA 

125. fuEufyf[kr esa ls dkSu lk ukbVªkstu {kkj DNA esa ugha 

ik;k tkrk gaS\ 

 (1) ,sfMuhu (2) Xokfuu 

 (3) ;wjSfly (4) lkbVksflu 
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126. Match the columns and choose the correct 

combination 

 Column-I  Column-II 

 A. Non sense  I. UUU 

 codon 

 B. Ambiguous II. UGG 

 codon 

 C. Codon for  III. GUG 

 tryptophan 

 D. Phenylalanine IV. UAG 

 codon 

 (1) A– II; B – III; C– IV; D – I 

 (2) A– II; B – III; C– I; D – IV 

 (3) A– IV; B – III; C– II; D – I 

 (4) A– IV; B – III; C– I; D – II 

127. Match List I with List II 

 List I  List II 

 A. Oxidative  I. Hexokinase 

 decarboxylation 

 B. EMP pathway II. Electron transport system 

 C. Citric acid cycle III. Pyruvate dehydrogenase 

 D. Oxidative  IV. Succinic dehydrogenase 

 phosphorylation 

 Choose the correct answer from the options given 

below; 

 (1) A – III, B-IV, C-II, D-I 

 (2) A – II, B-IV, C-I, D-III 

 (3) A – III, B-I, C-IV, D-II 

 (4) A – IV, B-I, C-II, D-III 

 

 

 

 

 

126. LraHkksa dk feyku djsa vkSj lgh la;kstu dk p;u djsa 

 

 d‚ye-I  d‚ye-II 

 A. ukWu lsUl  I. UUU 

 dksMksu 

 B. lafnX/k II. UGG 

 dksMksu 

 C. fVªIVksQSu ds fy, III. GUG 

 dksMksu 

 D. fQukby,ykfuu IV. UAG 

 dksMksu 

 (1) A– II; B – III; C– IV; D – I 

 (2) A– II; B – III; C– I; D – IV 

 (3) A– IV; B – III; C– II; D – I 

 (4) A– IV; B – III; C– I; D – II 

127. lwph I dks lwph II ds lkFk lqesfyr dhft, 

 lwph I  lwph II 

 A. v‚Dlhdkjh  I. gsDlksdkbust 

 fodkcksZfDtfydj.k 

 B. EMP ekxZ II. bysDVª‚u ifjogu ra= 

 C. lkbfVªd ,flM III. ikb:osV fMgkbMªksftust 

 pØ 

 D. v‚DlhMsfVo  IV. lfDlfud fMgkbMªksftust 

 QkWLQkfjyhdj.k 

 uhps fn, x, fodYiksa esa ls lgh mÙkj dk p;u dhft,; 

 (1) A – III, B-IV, C-II, D-I 

 (2) A – II, B-IV, C-I, D-III 

 (3) A – III, B-I, C-IV, D-II 

 (4) A – IV, B-I, C-II, D-III 
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128. Match Column-I with Column-II and select the 

correct option from the codes given below. 

 Column-I  Column-II 

 A. Disintegration  i. Anaphase 

 of nuclear 

 membrane 

 B. Appearance of  ii. Prophase 

 of nuclear 

 membrane 

 C. Division of  iii. Telophase 

 centromere 

 D. Replication  iv. S-phase 

 of DNA 

 (1) A-(ii), B-(iii), C-(i), D-(iv) 

 (2) A-(ii), B-(iii), C-(iv), D-(i) 

 (3) A-(iii), B-(ii), C-(i), D-(iv) 

 (4) A-(iii), B-(ii), C-(iv), D-(i) 

129. Match the following and choose the correct option 

 

  Column I  Column II 

 A. Ovary I. Groundnut, mustard 

 B. Ovule II. Guava, orange, mango 

 C. Wall of ovary III. Pericarp 

 D. Fleshy fruits IV. Seed 

 E. Dry fruits V. Fruit 

 (1) A-V; B-IV; C-III; D-II; E-I 

 (2) A-I; B-II; C-III; D-IV; E-V 

 (3) A-I; B-III; C-II; D-IV; E-V 

 (4) A-V: B-IV: C-I; D-II: E-III 

130. Match Column-I with Column-II and select the 

correct answer from the codes given below. 

 Column-I  Column-II 

 A Trichoderma i. Nitrification 

 B. Streptomyces ii. Biocontrol agent 

 C. Nitrosomonas  iii. Lactic acid 

 D. Lactobacillus iv. Source of antibiotic 

 (1) A-(ii), B-(iii), C-(iv), D-(i) 

 (2) A-(ii), B-(iv), C-(i), D-(iii) 

 (3) A-(iii), B-(i), C-(ii), D-(iv) 

 (4) A-(iv), B-(ii), C-(i), D-(iii) 

128. d‚ye-I dks d‚ye-II ds lkFk lqesfyr djsa vkSj uhps fn, 

x, dwV ls lgh fodYi dk p;u djsaA 

 d‚ye-I  d‚ye-II 

 A. dsUnzd f>Yyh  I. ,ukQst 

 dk fo?kVu 

 B. dsUnzd f>Yyh  II. izksQst 

 dh mifLFkfr 

 C. lsaVªksfe;j dk  III. fVyksQst 

 foHkktu 

 D. DNA IV. S-izkoLFkk 

 dh çfr—fr 

 (1) A-(ii), B-(iii), C-(i), D-(iv) 

 (2) A-(ii), B-(iii), C-(iv), D-(i) 

 (3) A-(iii), B-(ii), C-(i), D-(iv) 

 (4) A-(iii), B-(ii), C-(iv), D-(i) 

 

129. fuEufyf[kr dk feyku djsa vkSj lgh fodYi dk p;u 

dhft, 

  d‚ye I  d‚ye II 

 A. vaMk'k; I. ewaxQyh] ljlksa 

 B. chtk.M+ II. ve:n] larjk] vke 

 C. vaMk'k; fHkfÙk III. QyfHkfRr 

 D. xwnsnkj Qy IV. cht 

 E. 'kq"d Qy V. Qy 

 (1) A-V; B-IV; C-III; D-II; E-I 

 (2) A-I; B-II; C-III; D-IV; E-V 

 (3) A-I; B-III; C-II; D-IV; E-V 

 (4) A-V: B-IV: C-I; D-II: E-III 

130. d‚ye-I dks d‚ye-II ds lkFk lqesfyr djsa vkSj uhps fn, 

x, dwV ls lgh mÙkj pqusaA 

  d‚ye-I  d‚ye-II 

 A. VªkbdksMekZ I. ukbfVªdj.k 

 B. LVªsIVksekbflt II. tSo fu;a=.k ,tsaV 

 C. ukbVªkslkseksukl  III. ysfDVd ,flM 

 D. ySDVkscSflyl IV. ,aVhck;ksfVd dk lzksr 

 (1) A-(ii), B-(iii), C-(iv), D-(i) 

 (2) A-(ii), B-(iv), C-(i), D-(iii) 

 (3) A-(iii), B-(i), C-(ii), D-(iv) 

 (4) A-(iv), B-(ii), C-(i), D-(iii) 
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131. A plant in your college garden show high rate of 

photosynthesis at high temp., avoid 

photorespiration, improved water use efficiency 

and nitrogen utilization. In which of the following 

physiological groups would you assign this plant? 

 (1) Pisum sativum 

 (2) Saccharum officinarum 

 (3) Triticum aestivum 

 (4) Both 2 and 3 

132. In a E. Coli strain ‘O’ gene get mutated and the 

product of i gene permanently bind the operator. If 

growth medium is provided with lactose, what will 

be outcome? 

 (1) Only z gene will get transcribed 

 (2) z, y, a genes will be transcribed 

 (3) z, y, a genes will not be transcribed 

 (4) RNA polymerase will bind the promoter region 

133. Given below are two statements: One is labelled as 

assertion (A) and other is labelled as reason (R). 

 Assertion (A): There is two steps in glycolysis 

where ATP is released. 

 Reason (R): First ATP is released when 1,3-BPGA 

converted into 3-PGA and second ATP is released 

when PGAL converts into 1,3-BPGA. 

  

 In the light of the above statements, choose the 

correct answer. 

 (1) Both A and R are true, R is the correct 

explanation of A 

 (2) Both A and R are true but R is not the correct 

explanation of A. 

 (3) A is true But R is wrong 

 (4) A is false but R is true. 

 

 

 

131. vkids d‚yst ds cxhps esa ,d ikni mPp rkieku ij 

çdk'k la'ys"k.k dh mPp nj n'kkZrk gS] izdk'k 'olu 

ugha djrk gS rFkk ty rFkk ukbVªkstu ds mi;ksx dh 

n{krk dks c<+krk gSA fuEufyf[kr esa ls fdl dkf;Zdh; 

lewg esa vki bl ikni dks fufnZ"V djsaxs\ 

 (1) ikble lsVkboe 

 (2) lSdsje v‚fQflusje 

 (3) fVªfVde ,fLVoe 

 (4) 2 vkSj 3 nksuksa 

132. bZ-dksykbZ LVªsu esa ‘O’ thu mRifjofrZr gks tkrk gS vkSj 

i thu dk mRikn v‚ijsVj dks LFkk;h :i ls caf/kr dj 

nsrk gSA ;fn o`f) ek/;e esa ySDVkst çnku fd;k tkrk 

gS] rks ifj.kke D;k gksxk\ 

 (1) dsoy z thu dk vuqys[ku gksxk 

 (2) z, y, a thu dks vuqys[ku gksxk 

 (3) z, y, a thu dk vuqys[ku ugha gksxk 

 (4) RNA iksyhejst çeksVj {ks= ls ca/krk gS 

133. uhps nks dFku fn, x, gSa% ,d dks dFku (A) vkSj nwljs 

dks dkj.k (R) ds :i esa vafdr fd;k x;k gSA 

 dFku (A): Xykbdksykbfll esa nks pj.k gksrs gSa tgka 

ATP eqDr gksrk gSA 

 dkj.k (R): izFke ATP rc eqDr gksrk gS tc 1,3-

BPGA, 3-PGA esa ifjofrZr gks tkrk gS vkSj f}rh; 

ATP rc eqDr gksrk gS tc PGAL, 1,3-BPGA esa 

ifjofrZr gks tkrk gSA 

 mijksä dFkuksa ds vkyksd esa lgh mÙkj dk p;u 

dhft,A 

 (1) A vkSj R nksuksa lR; gSa] R, A dk lgh Li"Vhdj.k 

gS 

 (2) A vkSj R nksuksa lR; gSa ysfdu R, A dk lgh 

Li"Vhdj.k ugha gSA 

 (3) A lR; gS ysfdu R xyr gS 

 (4) A vlR; gS ysfdu R lR; gSA 
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134. Consider the pyramid energy of an ecosystem given 

below: 

 
 It T3 is equivalent to 100000 J, what is the value of 

T1? 

 (1) 1000000 J 

 (2) 10000000 J 

 (3) 1000000000 J 

 (4) 10000 J 

135. Which one of the following is not a correct 

statement? 

 (1) Experimental verification of the chromosome 

theory inheritance was given by T. H. Morgan 

 (2) Mendel selected 14 true breeding sweet pea 

plant variety 

 (3) Morgan worked with Drosophila. 

 (4) Mendel published his work on inheritance of 

character in 1865 

134. uhps fn, x, ,d ikfjfLFkfrdh ra= ds ÅtkZ fijkfeM 

ij fopkj djsa% 

 

 ;fn T3 ij 100000 J ds cjkcj ÅtkZ gS] rks T1 dk 

eku D;k gS\ 

 (1) 1000000 J 

 (2) 10000000 J 

 (3) 1000000000 J 

 (4) 10000 J 

135. fuEufyf[kr esa ls dkSu&lk ,d lgh dFku ugha gS\ 

 (1) xq.klw= ds oa'kkxr fl)kar dk çk;ksfxd lR;kiu 

Vh-,p- eksxZu us fn;k Fkk 

 (2) esaMy us 14 lR; çtuu ehBs eVj ds ikni dh 

fdLe dk p;u fd;k 

 (3) e‚xZu us MªkslksfQyk ij dk;Z fd;k 

 (4) esaMy us 1865 esa xq.kksa dh oa'kkxfr ij viuk dk;Z 

çdkf'kr fd;k 
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PART – IV : ZOOLOGY 
136. Select the wrong statement 

 (1) Human insulin is being commercially produced 

from a transgenic Escherichia coli 

  

 (2) Bt toxin genes cryIAc control the corn borer 

  

 (3) Human protein, alpha-1 - antitrypsin is used to 

treat emphysema 

 (4) The first transgenic cow, Rosie, produced alpha 

lactalbumin enriched milk 

137. Which of the following secondary metabolites 

belong to the group drugs? 

 I. Rubber II. Curcumin 

 III. Gum IV. Vinblastin 

 V. Cellulose 

 (1) I and II only (2) I and V only 

 (3) II and III only (4) II and IV only 

138. The entry of food into the larynx is prevented by 

 

 (1) Mitral valve (2) Diaphragm 

 (3) Epiglottis (4) Hyoid 

139. Mark the correct statement for monosaccharides. 

 (1) Monosaccharides with 5 carbon atoms are 

smallest carbohydrates 

 (2) Pentose sugar ribose is rarely found in animal 

cells 

 (3) Fructose is a ketose sugar. 

 (4) The most important sugar occurring in animals 

is cellulose 

140. Interferons are glycoproteins which are ______ and 

are considered to be a part of ______ 

 (1) Anti-fungal, second line of defence 

 (2) Anti-viral, physiological barriers 

 (3) Anti-viral, non specific immunity 

 (4) Anti-viral, specific immunity 

 

136. xyr dFku dk p;u dhft, 

 (1) ekuo balqfyu dk O;kolkf;d :i ls mRiknu 

Vªkaltsfud ,Lpsfjfp;k dksykbZ dh enn ls fd;k 

tk jgk gS 

 (2) chVh fo"k thu cryIAc edbZ cksjj dks fu;af=r 

djrk gS 

 (3) ekuo çksVhu] vYQk &1 & ,aVhfVªfIlu dk mi;ksx 

okrLQhfr ds bykt ds fy, fd;k tkrk gS 

 (4) igyh Vªkaltsfud xk;] jksth us vYQk ySDVycqfeu 

le`) nw/k dk mRiknu fd;k 

137. fuEufyf[kr esa ls dkSu lk f}rh;d esVkcksykbV lewg 

nokvksa ls lacaf/kr gS\ 

 I. jcM+ II. djD;wfeu 

 III. xksan IV. fouCykfLVu 

 V. lsYyqykst 

 (1) dsoy I vkSj II (2) dsoy I vkSj V 

 (3) dsoy II vkSj III (4) dsoy II vkSj IV 

138. Loj isfVdk esa Hkkstu ds ços'k dks fdlds }kjk jksdk 

tkrk gS\ 

 (1) feVªy okYo (2) Mk;kÝke 

 (3) ,fiXyksfVl (4) gk;ksbM 

139. eksukslSdjkbM ds fy, lgh dFku dks fpfàr djsaA 

 (1) 5 dkcZu ijek.kqvksa ds lkFk eksukslSdjkbM lcls 

NksVs dkcksZgkbMªsV gksrs gSa 

 (2) isaVksl 'kqxj jkbckst cgqr gh de tUrq dksf'kdkvksa 

esa ik;k tkrk gS 

 (3) ÝDVkst ,d dhVkst 'kdZjk gSa 

 (4) tUrqvksa esa ik;h tkus okyh lcls egRoiw.kZ 'kdZjk 

lsYyqykst gS 

140. baVjQsj‚u XykbdksçksVhu gksrs gSa tks ______ gksrs gSa vkSj 

bUgsa ______ dk fgLlk ekuk tkrk gS 

 (1) ,aVh&Qaxy] j{kk dh nwljh iafä 

 (2) ,aVh&ok;jy] 'kkjhfjd ck/kk,a 

 (3) ,aVh&ok;jy] xSj fof'k"V çfrj{kk 

 (4) ,aVh&ok;jy] fof'k"V çfrj{kk 
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141. Choose the wrong statement regarding urine 

formation 

 (1) Filtration is non-selective process performed 

by glomerulus 

 (2) The glomerular capillary blood pressure causes 

filtration of blood through filtration unit 

 (3) GFR in a healthy individual is approximately 

125 ml/min 

 (4) The ascending limb of the Henle's loop is 

permeable to water but not allows transport of 

electrolytes actively or passively 

142. Find out the incorrect pairing - 

 (1) Cranial bones - 8 

 (2) Facial bones - 14 

 (3) Vertebral column - 26 

 (4) Ear ossicles - 12 

143. Function of the somatostatin is to 

 (1) stimulate pituitary synthesis and release 

gonadotropins 

 (2) inhibit the release of gonadotropins from 

pituitary 

 (3) stimulate pituitary and promotes the secretion 

of growth hormone 

 (4) inhibit the release of growth hormone from the 

pituitary 

144. Read the following statements and choose the 

correct option. 

 A. Blood cells secrete fibres of structural proteins 

called collagen or elastin. 

 B. Neuroglial cells protect and support the 

nephrons. 

 C. Osteocytes are present in spaces called lacunae. 

  

 D. Striated muscle fibres are bundled together in a 

parallel fashion. 

 E. Biceps are involuntary and striated. 

 (1) C and D alone are wrong 

 (2) B and D alone are wrong 

 (3) A and C alone are wrong 

 (4) A, B and E alone are wrong 

141. ew= fuekZ.k ds laca/k esa xyr dFku dk p;u djsa 

 (1) Nuu] Xykses#yl }kjk dh xbZ xSj&p;ukRed 

çfØ;k gS 

 (2) Xykses#yj dsf'kdk dk jäpki fQYVjs'ku bdkbZ ds 

ek/;e ls jä ds Nuu dk dkj.k curk gS 

 (3) ,d LoLFk O;fä esa GFR yxHkx 125 

feyhyhVj@feuV gS 

 (4) gsuys ds ywi dk vkjksgh vax ikuh ds fy, ikjxE; 

gS] ysfdu bysDVªksykbV~l dks lfØ; ;k fuf"Ø; :i 

ls ifjogu dh vuqefr ugh nsrk gS 

142. csesy dk irk yxk;s & 

 (1) Øsfu;y vfLFk;k¡ & 8 

 (2) Qsf'k;y vfLFk;k¡ & 14 

 (3) d'ks#dk n.M & 26 

 (4) d.kZ vfLFk;k¡ & 12 

143. lksesVksLVSfVu dk dk;Z gS 

 (1) fiVîwVjh la'ys"k.k dks izsfjr djds xksuSMksVªksfiu dk 

lzko djkuk 

 (2) fiVîwVjh ls xksuSMksVªksfiu ds lzko dks lnafer djuk 

 (3) fiVîwVjh dks izsfjr djds o`f) gkeksZu ds lzko dks 

c<+kok nsrk gS 

 (4) fiVîwVjh ls o`f) gkeksZu ds lzko dks lnafer djuk 

 

144. fuEufyf[kr dFkuksa dks if<+, vkSj lgh fodYi dk p;u 

dhft,A 

 A. jä dksf'kdk,a dksystu ;k bykfLVu uked 

lajpukRed çksVhu ds rarqvksa dk lzko djrh gSaA 

 B. U;wjksfXy;y dksf'kdk,a usÝ‚u dks lqj{kk vkSj lgkjk 

iznku djrh gSaA 

 C. vksfLV;kslkbV~l fjä LFkku esa ekStwn gksrs gSa ftUgsa 

ySdqus dgk tkrk gSA 

 D. jsf[kr is'kh Qkbcj ,d lekukarj QS'ku esa ,d lkFk 

caMy esa ik;s tkrs gSaA 

 E. ckblsIl vuSfPNd vkSj jsf[kr gksrs gSaA 

 (1) dsoy C vkSj D xyr gSa 

 (2) B vkSj D vdsys xyr gSa 

 (3) dsoy A vkSj C xyr gSa 

 (4) vdsys A, B vkSj E xyr gSa 
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145. Match the protein with its function and choose the 

right option. 

   Protein  Function 

 A. Collagen i. Glucose transport 

 B. Trypsin ii. Hormone 

 C. Insulin iii. Intercellular ground 

substance 

 D. GLUT-4  iv. Enzyme 

 (1) A-(iii), B-(iv), C-(ii), D-(i) 

 (2) A-(iv), B- (i), C-(ii), D-(iii) 

 (3) A-(ii), B-(iv), C-(i), D-(iii) 

 (4) A-(iii), B-(iv), C-(i), D-(ii) 

146. Progressive degeneration of skeletal muscle is 

mostly due to genetic disorder of 

 (1) Tetany 

 (2) Gouty arthritis 

 (3) Myasthenia gravis 

 (4) Muscular dystrophy 

147. Cortisol is 

 A. Anti-inflammatory hormone 

 B. Stress hormone 

 C. Immunosuppressive hormone 

 D. Hyperglycaemic hormone 

 (1) Only A, B and C are correct 

 (2) A, B, C and D are correct 

 (3) Only A is correct 

 (4) Only A and B are correct 

148. Micro-injection is a method used to 

  

 (1) produce sticky ends of DNA 

 (2) provide protection against pathogen 

 (3) purify the DNA 

 (4) inject recombinant DNA into the nucleus of an 

animal cell 

149. The sticky ends of a fragmented DNA molecule are 

made of 

 (1) calcium salts (2) pectinase enzyme 

 (3) unpaired bases (4) methyl groups 

145. çksVhu dks mlds dk;Z ds lkFk feyk,a vkSj lgh fodYi 

pqusaA 

   çksVhu  Qyu 

 A. dksyStu I. X ywdkst ifjogu 

 B. fVªfIlu II. g‚jeksu 

 C. bulqfyu III. varjdksf'kdh; vk/kkjh; inkFkZ 

  

 D. GLUT-4 IV. ,U tkbe 

 (1) A-(iii), B-(iv), C-(ii), D-(i) 

 (2) A-(iv), B- (i), C-(ii), D-(iii) 

 (3) A-(ii), B-(iv), C-(i), D-(iii) 

 (4) A-(iii), B-(iv), C-(i), D-(ii) 

146. dadky dh ekalisf'k;ksa dk Øfed c<+rk v/k% iru 

T;knkrj vkuqoaf'kd fodkj ds dkj.k gksrk gS] tks gS 

 (1) VsVuh 

 (2) xkmVh xfB;k 

 (3) ek;LFksfu;k xzsfol 

 (4) is'kh; nq"iks"k.k 

147. dksfVZlksy gS 

 A. izfr iznkg gkeksZu 

 B. ruko gkeksZu 

 C. bE;wukslçsflo gkeksZu 

 D. gkbijXykblsfed gkeksZu 

 (1) dsoy A, B vkSj C lgh gSa 

 (2) A, B, C vkSj D lgh gSa 

 (3) dsoy A lgh gS 

 (4) dsoy A vkSj B lgh gSa 

148. ekbØks&batsD'ku ,d fof/k gS ftldk mi;ksx fd;k 

tkrk gS 

 (1) DNA ds fpifpis fljksa dk mRiknu 

 (2) jksxtud ls lqj{kk çnku djus esa 

 (3) DNA dks 'kq) djus esa 

 (4) ,d tUrq dksf'kdk ds dsUnzd esa iqu;ksZxt DNA 

dks izos'k djkus esa 

149. ,d [kafMr DNA v.kq ds fpifpis fljs fdlls cus gksrs 

gSa\ 

 (1) dSfY'k;e yo.k (2) isDVhust ,atkbe 

 (3) v;qfXer {kkj (4) feFkkby lewg 
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150. Which of the following is required to perform 

polymerase chain reaction? 

 (1) Primers, dNTPs and DNA polymerase 

 (2) DNA, CaCl2 and nuclease 

 (3) Gene gun 

 (4) Both (1) and (3) 

151. Mainly to generate pressure gradients to facilitate 

expiration and inspiration, the human body uses the 

intercostal muscles and 

 (1) alveolar sacs 

 (2) bronchi 

 (3) primary, secondary and tertiary bronchioles 

 (4) diaphragm 

152. Identify the correct statement regarding cardiac 

activity 

 (1) Normal activities of the human heart is 

regulated intrinsically hence it is neurogenic 

 (2) A special neural centre in the Pons always 

moderate the cardiac function through the CNS 

 (3) Parasympathetic neural signals increase the 

rate of heart beat 

 (4) Adrenal medullary hormones can increase 

cardiac output 

153. Match Column I with Column II and choose the 

correct answer. 

   Column I  Column II 

 A. Sponges I. Incomplete digestive 

system 

 B. Coelenterates II. Cellular level of 

organization 

 C. Annelids III. Radial symmetry 

 D. Platyhelminthes IV. Pseudocoelomate 

 E. Aschelminthes V. Metamerism 

 (1) A – III; B – IV; C – I; D – II; E–V 

 (2) A – V; B – III; C – IV; D – I; E–II 

 (3) A – II; B – III; C – V; D – I; E–IV 

 (4) A – I; B – II; C – III; D – IV; E–V 

150. iksyhejst psu fj,D'ku djus ds fy, fuEufyf[kr esa ls 

fdldh vko';drk gksrh gS\ 

 (1) çkbej] dNTP vkSj DNA iksyhejst 

 (2) DNA, CaCl2 vkSj U;qfDy;st 

 (3) thu xu 

 (4) (1) vkSj (3) nksuksa 

151. eq[;r% var% 'olu vkSj fu%'olu esa lgk;d nkc 

izo.krk mRiUu djus ds fy,] ekuo 'kjhj baVjdksLVy 

ekalisf'k;ksa ds lkFk vkSj fdldk mi;ksx djrk gS& 

 (1) ok;qdks'kh; FkSyh 

 (2) czksdkbZ 

 (3) çkFkfed] f}rh;d vkSj r`rh;d czksafd;ksYl 

 (4) Mk;kÝke 

152. ân; xfrfof/k ds ckjs esa lgh dFku dh igpku dhft;s 

 (1) ekuo ân; dh lkekU; xfrfof/k;ksa dks vkarfjd :i 

ls fu;af=r fd;k tkrk gS blfy, ;g U;wjkstsfud 

gS 

 (2) iksal ,d fo'ks"k raf=dk dsaæ }kjk lnSo CNS ds 

ek/;e ls ân; dk;ksZa dks fu;af=r dj ldrk gS 

 (3) iSjkflEisFksfVd raf=dk ladsr ân; dh /kM+du dh 

nj dks c<+krs gSa 

 (4) vf/ko`Dd eTtk gkeksZu dkfMZ;d vkmViqV c<+k 

ldrs gSa 

153. d‚ye I dks d‚ye II ds lkFk lqesfyr djsa vkSj lgh 

mÙkj pqusaA 

   d‚ye I  d‚ye II 

 A. Liat I. v/kwjk ikpu ra= 

  

 B. lhysaVsjsV~l II. laxBu dk dksf'kdh; Lrj 

  

 C. ,usfyM~l III. vjh; lefefr 

 D. IysVhgsfYeUFkht  IV. L;qMkslhyksesV~l 

 E. ,LdsgsfYeUFkht V. esVkesfjTe 

 (1) A – III; B – IV; C – I; D – II; E–V 

 (2) A – V; B – III; C – IV; D – I; E–II 

 (3) A – II; B – III; C – V; D – I; E–IV 

 (4) A – I; B – II; C – III; D – IV; E–V 
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154. Secretion of water and bicarbonate ions from 

pancreas is stimulated by 

 (1) gastrin (2) secretin 

 (3) enterogasteron (4) enterokinase 

155. Choose the correct statement 

 (1) Schwann cells found only in CNS. 

 (2) Retina has multipolar neurons only. 

 (3) Electrical synapses are commonly present in 

humans. 

 (4) Impulse transmission across an electrical 

synapse is faster than across a chemical 

synapse. 

156. Which of the following hormones have 

antagonistic (opposing) effects? 

 (1) Thyroxine and calcitonin 

 (2) Insulin and glucagon 

 (3) Growth hormone and epinephrine 

 (4) ACTH and glucocorticoids 

157. Match list I with list II and choose the correct 

answer 

   List I  List II 

 A. Hypothalamus I. Sperm lysins 

 B. Acrosome II. Estrogen 

 C. Graafian follicle III. Relaxin 

 D. Leydig cells IV. GnRH 

 E. Parturition V. Testosterone 

 (1) A – IV, B – I, C – II, D – III, E – V 

 (2) A – II, B – I, C – IV, D – III, E – V 

 (3) A – II, B – I, C – V, D – IV, E – III 

 (4) A – IV, B – I, C – II, D – V, E – III 

158. The hormone releasing IUD is 

 (1) LNG 20 (2) Lippes loop 

 (3) CuT (4) Multiload 375 

159. The cytokine barrier among these is 

 (1) Polymorphonuclear neutrophil 

 (2) Monocyte 

 (3) NK cell 

 (4) Interferon 

154. vXU;k'k; ls ikuh vkSj ckbdkcksZusV vk;uksa dk lzko 

fdlds }kjk izsfjr gksrk gS\ 

 (1) xsfLVªu (2) flØsfVu 

 (3) ,aVjksxSLVj‚u (4) ,aVjksdkbust 

155. lgh dFku dk p;u dhft, 

 (1) 'oku dksf'kdk,sa dsoy CNS esa ik;h tkrh gSA 

 (2) jsfVuk esa dsoy cgq/kzqoh; U;wj‚Ul gksrs gSaA 

 (3) fo|qr flusIl vkerkSj ij euq";ksa esa T;knk ekStwn 

gksrs gSaA 

 (4) ,d fo|qr flusIl esa vkosx lapj.k ,d jklk;fud 

flusIl dh rqyuk esa rst gksrk gSA 

156. fuEufyf[kr esa ls fdl gkeksZu dk fojks/kh çHkko gksrk 

gS\ 

 (1) Fkk;jksfDlu vkSj dSYlhVksfuu 

 (2) balqfyu vkSj XywdkxkWu 

 (3) o`f) gkeksZu vkSj ,fiusÝhu 

 (4) ACTH vkSj XywdksdkVksZbdksbM~l 

157. lwph I dks lwph II ds lkFk lqesfyr dhft, vkSj lgh 

mÙkj pqfu, 

   lwph I    lwph II 

 A. gkbiksFkSysel  I. 'kqØk.kq ykbflu 

 B. ,Økslkse  II. ,LVªkstu 

 C. xzkfQ;u QkfydWy  III. fjySfDlu 

 D. yhfMx dksf'kdk,sa  IV. GnRH 

 E. çlo  V. VsLVksLVsjksu 

 (1) A – IV, B – I, C – II, D – III, E – V 

 (2) A – II, B – I, C – IV, D – III, E – V 

 (3) A – II, B – I, C – V, D – IV, E – III 

 (4) A – IV, B – I, C – II, D – V, E – III 

158. gkeksZu ekspd IUD D;k gS\ 

 (1) LNG 20 (2) fyIl ywi 

 (3) CuT (4) eYVhyksM 375 

159. buesa ls lkbVksfdu vojks/k gS 

 (1) i‚yheksQksZU;wfDy;j U;wVªksfQy 

 (2) eksukslkbV 

 (3) NK dksf'kdk 

 (4) baVjQsj‚u 
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160. Read the statements regarding Echinoderms and 

choose the correct option 

 (a) They are marine with organ system level of 

organisation 

 (b) Adults are bilaterally symmetrical 

 (c) They are dioecious 

 (d) Fertilisation is internal only and indirect 

development is observed 

 (e) Triploblastic and acoelomate animals 

 (1) (a) and (c) are correct 

 (2) (e) alone is correct 

 (3) (a), (c) and (e) are correct 

 (4) (a) and (e) are correct 

161. Which of the following is wrongly matched? 

 (1) IUT – Semen collected from donor is 

artificially introduced into vagina or uterus of 

female. 

 (2) IVF – Fertilisation takes place outside female's 

body in a dish in a laboratory. 

 (3) ZIFT – Embryo upto 8 blastomeres is 

transferred into fallopian tube 

 (4) GIFT – Ovum collected from donor can 

transferred into another female 

162. During parturition 

 (1) Progesterone level highly decreases 

 (2) Prostaglandin level falls 

 (3) Only relaxin promotes contraction of uterine 

muscles 

 (4) Cervical mucus plug strengthens by estrogen 

activity 

163. If Henle’s loop were absent from mammalian 

nephron which of the following is to be expected? 

  

 (1) The urine will be more concentrated 

 (2) The urine will be more dilute 

 (3) There will be no urine formation 

 (4) There will be hardly any change in the quality 

and quantity of urine formed 

 

160. bdkbuksMeZ ds ckjs esa dFkuksa dks if<+, vkSj lgh fodYi 

dk p;u dhft, 

 (a) ;s leqnzh tho vax ra= lxaBu Lrj ds lkFk 

 (b) o;Ld f}ik'oZ :i ls lefer gksrs gSa 

 (c) uj ,oa eknk i`Fkd gksrs gSa 

 (d) fu"kspu dsoy vkarfjd gS vkSj vçR;{k fodkl ns[kk 

tkrk gS 

 (e) f=Lrjh; vkSj vnsgxqgh; tho 

 (1) (a) vkSj (c) lgh gSa 

 (2) dsoy (e) gh lgh gS 

 (3) (a), (c) vkSj (e) lgh gSa 

 (4) (a) vkSj (e) lgh gSa 

161. fuEufyf[kr esa ls fdldk xyr lqesfyr gS\ 

 (1) IUT & nkrk ls ,d= oh;Z —f=e :i ls efgyk 

dh ;ksfu ;k xHkkZ'k; esa izos'k fd;k tkrk gSA 

 (2) IVF – fu"kspu ,d ç;ksx'kkyk esa ,d fM'k esa efgyk 

ds 'kjhj ds ckgj gksrk gSA 

 (3) ZIFT – 8 CykLVkseh;j rd ds Hkzw.k dks QSyksfi;u 

Vîwc esa LFkkukarfjr fd;k tkrk gS 

 (4) GIFT – nkrk ls ,d= fd, x, fMac dks nwljh 

efgyk esa LFkkukarfjr fd;k tk ldrk gS 

162. çlo ds nkSjku 

 (1) izkstsLVªkWu Lrj es vR;f/kd deh gksrh gS 

 (2) çksLVkXySaMhu dk Lrj fxjrk gS 

 (3) dsoy fjySfDlu xHkkZ'k; dh ekalisf'k;ksa ds ladqpu 

dks c<+kok nsrk gS 

 (4) xHkkZ'k; xzhok E;qdl Iyx bLVªkstu xfrfof/k }kjk 

lqn`<+ gksrk gS 

163. ;fn gsuys dk ywi Lru/kkjh usÝ‚u ls vuqifLFkr gksrk 

gS] rks fuEufyf[kr esa ls fdldh mEehn dh tk ldrh 

gS\ 

 (1) ew= vf/kd lkfUnzr gksxk 

 (2) ew= vf/kd iryk gksxk 

 (3) ew= fuekZ.k ugha gksxk 

 (4) cuus okys ew= dh xq.koÙkk vkSj ek=k esa 'kk;n gh 

dksbZ cnyko gksxk 
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164. The kind of evolution in which two species of 

different genealogy come to resemble one another 

closely, due to similar adaptation is termed as 

 (1) progressive evolution 

 (2) convergent evolution 

 (3) parallel evolution 

 (4) retrogressive evolution 

165. Arrange the following human ancestors in 

ascending order, from earliest to latest: 

 A Homo erectus B. Australopithecus 

 C. Homo habilis D. Homo neanderthelensis 

 (1) A-B-C-D (2) B-A-C-D 

 (3) B-C-A-D (4) D-C-A-B 

166. The value of IRV in a healthy adult mostly range 

from - 

 (1) 500 - 1000 ml 

 (2) 1000 - 1100 ml 

 (3) 1200 - 1300 ml 

 (4) 2500 - 3000 ml 

167. Which of the following is a single U shaped bone, 

present at the base of the buccal cavity and it is also 

included in the skull? 

 (1) Hyoid (2) Malleus 

 (3) Sacrum (4) Scapula 

168. Which of the following statements regarding 

glucagon is false? 

 (1) It is secreted by -cells of Langerhans. 

  

 (2) It acts antagonistically to insulin. 

 (3) It decreases blood sugar level. 

 (4) The gland responsible for its secretion is 

heterocrine gland. 

169. Which one of the following techniques made it 

possible to produce genetically engineered living 

organism? 

 (1) Recombinant DNA techniques 

 (2) X-ray diffraction 

 (3) Heavier isotope labelling 

 (4) Hybridization 

164. ftl çdkj ds fodkl esa fofHkUu oa'kkoyh dh nks 

çtkfr;ka ,d&nwljs ls leku vuqdqyu ds dkj.k 

feyrh&tqyrh fn[kkbZ nsrh gSa] mls D;k dgk tkrk gS\ 

 (1) çxfr'khy fodkl 

 (2) vfHklkjh fodkl 

 (3) lekukarj fodkl 

 (4) çfrxkeh fodkl 

165. fuEufyf[kr ekuo iwoZtksa dks vkjksgh Øe esa O;ofLFkr 

djsa] vkjafHkd uohure rd% 

 A. gkseks bjsDVl B. vkLVªsyksfiFksdl 

 C. gkseks gSfcfyl D. gkseks fu,aMjFksysafll 

 (1) A-B-C-D (2) B-A-C-D 

 (3) B-C-A-D (4) D-C-A-B 

166. lkekU;r% LoLFk O;Ldksa esa IRV dk eku gksrk gS& 

  

 (1) 500 - 1000 ml 

 (2) 1000 - 1100 ml 

 (3) 1200 - 1300 ml 

 (4) 2500 - 3000 ml 

167. fuEufyf[kr esa ls dkSu lh ,dy U vkdkj dh gìh gS] 

tks eq[k xqgk ds vk/kkj ij ekStwn gS vkSj ;g djksVh esa 

Hkh 'kkfey gS\ 

 (1) gk;ksM (2) eSfy;l 

 (3) lSØe (4) LdSiqyk 

168. XywdkxkWu ds ckjs esa fuEufyf[kr esa ls dkSu lk dFku 

vlR; gS\ 

 (1) ;g ySaxjgSal dh &dksf'kdkvksa }kjk lzkfor gksrk 

gSA 

 (2) ;g balqfyu ds foijhr dk;Z djrk gSA 

 (3) ;g jä 'kdZjk ds Lrj dks de djrk gSA 

 (4) blds lzko ds fy, ftEesnkj xzafFk fo"kelzkoh xzafFk 

gSA 

169. fuEufyf[kr esa ls fdl rduhd us vkuqoaf'kd :i ls 

bathfu;MZ thfor thoksa dks mRiUu djuk laHko cuk;k 

gS& 

 (1) iqu% la;kstd DNA rduhd 

 (2) ,Dl&js foorZu 

 (3) Hkkjh vkblksVksi yscfyax 

 (4) ladj.k 



 

Space for rough work 

 

 

 

 

 

 

 

 

 

 

 

 

Narayana Jaipur HO: B-28, Gopalpura Bypass Road, 10-B Scheme, Near Ridhi Sidhi Circle, Jaipur, Rajasthan 302018 
(46) 

 

170. Which one of the following biomolecules is 

correctly characterized? 

 (1) Lecithin - A phosphorylated glyceride found in 

cell membrane. 

 (2) Palmitic acid - An unsaturated fatty acid with 

18 carbon atoms. 

 (3) Adenylic acid - Adenosine with a glucose 

phosphate molecule. 

 (4) Alanine amino acid - Do not contains an amino 

group and an acidic group anywhere in the 

molecule. 

171. Which of the following mainly responsible causes 

depolarisation of the axolemma or Sarcolemma? 

 (1) Closure of voltage gated Na+ channels 

 (2) Opening of voltage gated Na+ channels 

 (3) Closure of voltage gated K+ channels 

 (4) Starting of Na+ – K+ exchange pumps 

172. Which of the following statements is true for 

lymph? 

 (1) Only have WBC and serum 

 (2) all components of blood except RBCs and 

some proteins are present 

 (3) RBCs, WBCs and plasma present 

 (4) RBCs proteins and platelets present 

173. The functional unit of contractile system in striated 

muscle is 

 (1) myofibril (2) sarcomere 

 (3) Z-band (4) cross bridges 

174. Given below are four statements (A-D) each with 

one or two blanks. Select the option which 

correctly fills up the blanks in two statements 

 Statements: 

 (A) Wings of butterfly and birds look alike and are 

the results of __ (i) __, evolution. 

 (B) Miller showed that CH4, H2, NH3 and (i), when 

exposed to electric discharge in a flask resulted 

in formation of (ii). 

 (C) Vermiform appendix is a (i) organ and an (i) 

evidence of evolution. 

170. fuEufyf[kr esa ls dkSu lk tSo v.kq lgh :i ls 

vfHky{kf.kr gS\ 

 (1) yslhFkhu & dksf'kdk f>Yyh esa ik;k tkus okyk ,d 

Q‚LQksjkbysVsM fXyljkbM 

 (2) ikfefVd ,flM & 18 dkcZu ijek.kqvksa ds lkFk ,d 

vlar`Ir QSVh ,flMA 

 (3) ,Msfufyd ,flM & Xywdkst Q‚LQsV v.kq ds lkFk 

,MsuksfluA 

 (4) ,ysfuu vehuks ,flM & v.kq esa dgha Hkh ,d ,feuks 

lewg vkSj ,d vEyh; lewg ugha gksrk gSA 

171. fuEufyf[kr esa ls dkSu eq[;r% ,DlksysEek ;k ljdksysEek 

ds fo/kzwo.k dk dkj.k curk gS\ 

 (1) oksYVst xsVsM Na+ 
pSuy dks can djuk 

 (2) oksYVst xsVsM Na+
 pSuy [kksyuk 

 (3) oksYVst xsVsM K+
 pSuy dks can djuk 

 (4) Na+
 & K+

 ,Dlpsat iai dh 'kq#vkr 

172. fuEufyf[kr esa ls dkSu lk dFku ylhdk ds fy, lR; 

gS\ 

 (1) dsoy WBC vkSj lhje gksrk gS 

 (2) RBC vkSj dqN çksVhu dks NksM+dj jä ds lHkh 

?kVd mifLFkr gksrs gSa 

 (3) RBC, WBC vkSj IykTek mifLFkr gksrs gSa 

 (4) RBC çksVhu vkSj IysVysV~l mifLFkr gksrs gSa 

173. jsf[kr is'kh esa ldaqpu'khy ra= dh dk;kZRed bdkbZ gS 

 (1) ek;ksfQfczy (2) lkdksZfe;j 

 (3) Z&cSaM (4) Ø‚l fczt 

174. uhps pkj dFku (A-D) fn, x, gSa] ftuesa ls çR;sd esa 

,d ;k nks fjä LFkku gSaA ml fodYi dk p;u dhft, 

tks fjä LFkkuksa dks nks dFkuksa esa lgh <ax ls Hkjrk gS 

 dFku% 

 (A) frryh vkSj if{k;ksa ds ia[k ,d tSls fn[krs gSa vkSj 

__ (i) __, fodkl ds ifj.kke gSaA 

 (B) feyj us n'kkZ;k fd CH4, H2, NH3 rFkk (i), tc 

¶ykLd esa fo|qr fMLpktZ ds laidZ esa vkrs gSa rks 

(ii) dk fuekZ.k gksrk gSA 

 (C) oehZQ‚eZ ,isfMaDl ,d (i) vax vkSj ,d (i) fodkl 

dk çek.k gSA 
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 (D) According to Darwin evolution took place due 

to (i) and __(ii) __ of the fittest. 

 (1) (D) — (i) Small variations, (ii) Survival, (A) – 

(i) Convergent 

 (2) (A) — (i) Convergent, (B) — (i) Oxygen, (ii) 

nucleosides 

 (3) (B) — (i) Water vapour, (ii) DNA (C) —(i) 

Rudimentary, (ii) Anatomical 

 (4) (C) — (i) Vestigial, (ii) Anatomical (D) — (i) 

Mutations, (ii) Multiplication 

175. Which of the following class is being correctly 

described by given statements (i - iv)? 

 (i) All living members of this class are 

ectoparasites on some fishes. 

 (ii) They have a sucking and circular mouth 

without jaws. 

 (iii) Circulation is of closed type. 

 (iv) They are marine but migrate for spawning to 

fresh water. After spawning, within a few days 

they die. 

 (1) Cyclostomata (2) Chondrichthyes 

 (3) Osteichthyes (4) Amphibia 

176. Which one of the following statements about 

human sperm is correct? 

 (1) Acrosome has a conical pointed structure used 

for piercing and penetrating the egg, resulting 

in Fertilisation 

  

 (2) The sperm lysins in the acrosome dissolve the 

egg envelope facilitating fertilisation 

  

 (3) Acrosome serves as a sensory structure only 

leading the sperm towards the ovum 

 (4) Acrosome serves no particular function 

 

 

 

 (D) MkfoZu ds vuqlkj fodkl ;ksX;re ds (i) vkSj __(ii) 

__ ds dkj.k gqvkA 

 (1) (D) — (i) NksVs cnyko] (ii) mÙkjthfork] (A) – (i) 

vfHklkjh 

 (2) (A) — (i) vfHklkjd] (B) — (i) v‚Dlhtu] (ii) 

U;wfDy;kslkbM 

 (3) (B) — (i) tyok"i] (ii) DNA (C) —(i) 

vYifodflr] (ii) 'kkjhfjd 

 (4) (C) — (i) vo'ks"kh] (ii) 'kkjhfjd (D) — (i) 

mRifjorZu] (ii) xq.ku 

175. fuEufyf[kr esa ls fdl oxZ dks fn, x, dFkuksa (i - iv) 

}kjk lgh <ax ls of.kZr fd;k tk jgk gS\ 

 (i) bl oxZ ds lHkh thfor lnL; dqN eNfy;ksa ij 

ckg;% ijthoh gSaA 

 (ii) muds ikl tcM+s ds fcuk ,d pwlus okyk vkSj 

pØkdkj eqag gSA 

 (iii) ifjlapj.k can çdkj dk gSA 

 (iv) os leqæh gSa ysfdu rkts ikuh esa vaMs nsus ds fy, 

izokl djrs gSaA Li‚fuax ds ckn] dqN fnuksa ds Hkhrj 

os ej tkrs gSaA 

 (1) lkbDyksLVksesVk (2) dk¡fUMªfDFkl 

 (3) vkWLVsfDFkl (4) ,EQhfc;k 

176. ekuo 'kqØk.kq ds ckjs esa fuEufyf[kr esa ls dkSu lk dFku 

lgh gS\ 

 (1) ,Økslkse esa ,d 'kaDokdkj uqdhyh lajpuk gksrh gS 

ftldk mi;ksx vaMs dks Nsnus vkSj ?kqlus ds fy, 

fd;k tkrk gS] ftlds ifj.kkeLo:i fu"kspu gksrk 

gS 

 (2) ,Økslkse esa LieZ ykbflu vaMs ds vkoj.kks dk 

fo?kVu dj nsrs gSa] ftlls fu"kspu dh lqfo/kk gksrh 

gS 

 (3) ,Økslkse dsoy ,d laosnh lajpuk ds :i esa dk;Z 

djrk gS tks 'kqØk.kq dks fMac dh vksj ys tkrk gS 

 (4) ,Økslkse dksbZ fo'ks"k dk;Z ugha djrk gS 
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177. Select the correct matching of a hormone, its source 

and function. 

 Hormone Source Function 

(1) Vasopressin 
Posterior 

pituitary 

Increases loss 

of water 

through urine 

(2) Norepinephrine 
Adrenal 

medulla 

Increases heart 

beat, rate of 

respiration and 

alertness 

(3) Glucagon 

Beta-cells 

of 

Langerhans 

Stimulates 

glycogenolysis 

(4) Prolactin 
Posterior 

pituitary 

Regulates 

growth of 

mammary 

glands and 

milk 

formation in 

females 

178. Select the correct statement with respect to diseases 

and immunisation? 

 (1) If due to some reason B-and T-lymphocytes are 

damaged, the body will not produce antibodies 

against a pathogen 

 (2) Injection of dead / inactivated pathogens causes 

passive immunity only 

 (3) The protozoans have been used to mass 

produce hepatitis B vaccine. 

 (4) Injection of snake antivenom against snake bite 

is an example of active immunization 

 

 

 

 

 

 

177. ,d gkeksZu] mlds lzksr vkSj dk;Z ds lgh feyku dk 

p;u djsaA 

 g‚jeksu  ewy  Qyu 

(1) oSlksçsflu i'p ih;w"k 

ew= ds ek/;e ls 

ikuh dh gkfu dks 

c<+krk gS 

(2) ukWj,fiusÝhu 
vf/ko`Dd 

eTtk 

fny dh /kM+du] 

'olu dh nj 

vkSj lrdZrk 

c<+krk gS 

(3) XywdkxkWu 

ySaxjgSal dh 

chVk&dksf'kdk,a

  

Xykbdkstsuksyk;& 

fll dks izsfjr 

djrk gS 

(4) çksySfDVu i'p ih;w"k 

efgykvksa esa Lru 

xzafFk;ksa ds fodkl 

o nqX/k fuekZ.k 

dk fu;eu djrk 

gS 

178. jksxksa vkSj Vhdkdj.k ds laca/k esa lgh dFku dk p;u 

dhft,\ 

 (1) ;fn fdlh dkj.k ls ch&vkSj Vh&fyEQkslkbV~l 

{kfrxzLr gks tkrs gSa] rks 'kjhj ,d jksxtud ds 

f[kykQ ,aVhc‚Mh dk mRiknu ugha djsxk 

 (2) e`r@fuf"Ø; jksxtudksa dk batsD'ku dsoy fuf"Ø; 

çfrj{kk dks mRiUu djrk gS 

 (3) fgisVkbfVl B oSDlhu dk cM+s iSekus ij mRiknu 

djus ds fy, çksVkstksvk dk mi;ksx fd;k x;k gSA 

 (4) lkai ds dkVus ds f[kykQ liZ ,aVhosue dk batsD'ku 

lfØ; Vhdkdj.k dk ,d mnkgj.k gS 
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179. Which of the following statements regarding 

enzyme inhibition is correct? 

 (1) Competitive inhibition is seen when a substrate 

competes with an enzyme for binding to an 

inhibitor protein 

 (2) Competitive inhibition is seen when the 

substrate and the inhibitor compete for the 

active site on the enzyme 

 (3) Non-competitive inhibition of an enzyme can 

be overcome by adding large amount of 

substrate 

 (4) The competitive inhibitors always bind to the 

enzyme irreversibly 

180. Which of the following is/are present in female 

cockroach? 

 A. Collateral gland 

 B. Mushroom gland 

 C. Spermatheca 

 D. Anal style  

 E. Phallic gland 

 Choose the most appropriate answer from the 

options below 

 (1) B and D only (2) A only 

 (3) B and E only (4) A and C only 

179. ,atkbe vojks/k ds ckjs esa fuEufyf[kr esa ls dkSu lk 

dFku lgh gS\ 

 (1) çfrLi/khZ lnaeu rc ns[kk tkrk gS tc ,d lClVªsV 

,d vojks/kd çksVhu ls ca/ku ds fy, ,atkbe ds 

lkFk çfrLi/kkZ djrk gS 

 (2) çfrLi/khZ lnaeu rc ns[kk tkrk gS tc lClVªsV vkSj 

lnaed] ,atkbe ij lfØ; LFky ds fy, çfrLi/kkZ 

djrs gSa 

 (3) ,d ,atkbe ds xSj&çfrLi/khZ lnaeu dks cM+h ek=k 

esa lClVªsV c<+kdj nwj fd;k tk ldrk gS 

 (4) çfrLi/khZ lnaeu esa lnSo ,atkbe dks vifjorZuh; 

:i ls cka/krs gSa 

180. eknk frypês esa fuEufyf[kr esa ls dkSu&lk@ls fo|eku 

gSa\ 

 A. laikf'Zod xzafFk 

 B. e'k:e xzafFk 

 C. LiesZfFkdk 

 D. xqnk 'kwd  

 E. QSfyd xzafFk 

 uhps fn, x, fodYiksa esa ls lcls mi;qä mÙkj pqusa 

 (1) dsoy B rFkk D (2) dsoy A  

 (3) dsoy B rFkk E (4) dsoy A rFkk C 

 

 

 


